==>plot(1:10)

Introduction..o

TO
Scilab

plot3dL : z=sin(x)*cosly)

-=>// simple rectangle
-->xrect(0,1,3,1)
-=>// filling a rectangle

-->xfrect(3.1,1,3,1)
-=>// writing in the rectangle

-->xstring(0.5,0.5,"xrect(0,1,3,1)")

contour

-=>/7"% [ writing black !
9p//}{ <ﬁ§/%?i§ﬁ%;§:/

—->XS b .5, "xfrect(3+1,1,3,1)")

-=>ff reversing the video

1,1,3,1)™)

-=>// drawing a polyline

plot3d and contour

-->X=[0 1 2 3 4

R lllllinesllll
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1.1 ScilabOO0O0O

INRIAOODOOOOODO ScilabO0OO00ODOOCOODOODOOOOO0ODOOOOODOOOOODOO
O000000Scilab0 00000000000 0000O0000OD00O(O00OD notice.texOO
ooooooo)

ScilabO0 0300000000000 000O000DO0OODOO0O0OOOODODOOOOO (ScilabO
O0000)OFertran 0 COOODDOOODOOOOOOOOOOOODOODOOODOD (DDODDOOO
O0OO0OScilabOO0OO0OOOO0OOODOOO0OOOOOOODOOO)ODO0DO0OOOOOOOOOOOO
0000 NetibOOOODOOOOOOODOODODOOOOODODOODODOSclab ODODOODOOOO
goooobooboboboooboobogoo

MATLABOOODODOOOOOOOOOODODOODOOOOODOOODOOODOOODOOOO
000000000000 DO0O00000000O00O0DO0000OoOoogOoDSclab0O0O0O
000000000000 0bO0COOCOO0DObO0O0DOObODO0O00OD MATLABOOODODODO
000000 o00oo0o0oOo0O00O0O0D000DO0OUDOoO00bO0DO0OOoOUbODDOODO
0000000)00000000000ODO (DODOODOOO0 SclabOODODOOODOOODOOOO
0000000000000 000000o0OOooOo0OL)0L00o0o0ooOOU0OODUOoooDUOOoO
gooond

Scilab O OMATLABO OOOOOOOO)00000OO00OOO0ODOO0OOOOODOOOODOOO
goobobobbobobobboooon

e OO

goooboboobooboooo

e JOUODOOOODDODDOO
o JOUOUOD:000DO0ODDOODOO

e Fortran OO0 COOOODOOODODODODODO

goboboboooobooodoooooboooooooooooobooobboboboboon
O0o0oo(260000000000)

gboobooboooobobooooooobboooooboooobooooobooooo
0000000000000 (240000000000)000000000DO0ODOOODOODOO
gobobboboobbooboboooooobobdg

Scilab 0 OODOO0OOODOOOODOOOODOOOOOOOOOODOOODODOOOOODOO
goooboboboboooobbobooboboobooooboooobooooooobobobbon
(00OO000O00OO0O000OO00O0O00OO)02000000000000000DOO
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Scilab O O0OOOO0OODO0O0OOOOOOOOOOOOOOOOOODODOODODOODOODO
000000000000 (30000000000)000O0Scilab000C0CO0O0O0ODOOOOOO
gobbooboboboboboooooobobbobooooobooonooboooobbooon
gooobooboobooboonooooooooooooooog

O0O00OScilabO0000OOOCOOOCOOOODOOOOUOOOOOODOOODOOOODODOODODODOO
0000000000000 DCOODOO0O000000O0DODODODOO0000OScilab O OFortran O
00 COO0OO0000000O0ODODOO00O00DOODOO0ODO000ODODODOO0OOSclabDOD0O0O
goboooobobooobboooboobboobooboooooooboobooa

ScilabOOOOOODOOODODOODOOOOOODOOOOODOO

e D UIDOUODOODDODODOOO

gboooobooboobooooon

gbooooooboooooobobobobobooobbobboon

o JOODDOUODDOODODDODODLODDLOODLOODDLDODODOOODODLDO

0000000 (000000000000 o0o0o0ooOOo0o0o0oO0)boooooooo
gbooboboooooooboboobuooobooboogn

000000000 DDO0O0ODOScilab 000000000 DO0OOOODODOODOODODOOO Scilab
000000000000 00000000000D00000((elp0OOO0O )

1.2 DOO0O0oogon

ScilabO0 OO0 OO0O0OO0ODODOOCOOOOODODOODODDOODO scIbIROO Oscilab.star
(0000000000 00) O copyright 00 00 notice.texUOconfigure ((1.3)000)000
gooboboboooobbbooooooobogd

e in0 00000000 DODOOODODOSclab00000000O0ODO scilexOOODOOO
0000000000000 OScilabO0 0000 Postseript/WIEX 00000000000
goooooobbbooboboboboboooyd

e demos 0 Scilab 00000000000 O0OOOOalldems.dem D0 0000 O “demo” OO
0000000000000 00o0000ooDoooooooOoooooooooOoooon
00000000 00oooo0000doooo0o000oooooooooooooonag
0000000000000 0oD0o0000D0ooDo0ooooooooooooooon
0000000000 oO0U0O0oo0OoOoOo0DU0O0O0D00oOOoOoOoDOUOODOO0OO(DOOO
plot2d() O plot2d 0O O0OOOOOOODOODO)

e examples 0 000000000 intersci 0 DOO0OD0O0O0D0O0O0ONO scilabOOODOO
gooooooboooogoo

e docO0OScilab0 DD ODOODOODDODODOOKIEXOdvi OPostscript 00000000
00000000000 0SCIDIR/doc/intro/intro.texO 00000 OO OO O SCIDIR/man
00000000 (booooooo)ooooooooo
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e geci 00 0GeCl IO OIOOOO0OOOOOOOODODOOODOGeciDOOOOOOOOOO
OobO0O0odoooboooooboooooooobooboOoooOoooooboboOooobooond
O0000000000000000 GeciOOOOOOOOOOOOOOOOOODOOOOOO
coooooooooboooooobooobooobOOo0oooooooocooooobcoooon
00000000 000((@O0D0O0O0000O Ohelp communications 000 O0000O00O)
GeCl O O Xmetanet 0 Scilab OO0 0000000000

o imp OO OOOO Postscript DU DODDUOOO0OOOOOODOOOOOOODODODO
e libs OO OScilabO0 0000 (DODOOOOOOD)00OOOO

emacros 00 00000ODO0O0OOOO Scilab OO0O00ODOOOO0DODODOODOOODODOODO
00000000000 D00000(Makefle 00OOODOOOO)000O0O0OOOOOOO
gobooooboboOo0oodobobOOoO0bOobOOoOo0oUooUoOoDbDOOoO0U0bO0 «gooao
0070000000000 00DOScilab0D000D0ODDODOODOOOOOODOOODODOO
gbogooobooboooooobbbobooooobobbbonooooobbooonoon
O00000ODO0OD0O0O0O0ODDO “ignal” 0000000 DO0O0O0OOODODODOODODOOODO
gooooood

eman J 000000 (Unix 0000 )0000O00OOOODOOOOOODOOOODOODOO
0000000000000 000O00D0O00 MpXO0ODOOoOOoOoO ScilabOODODOODOO
000000000000 KWIEX O0000UnixOODOOOOO Scilab0O0OOOO (DOOO
0000 sCcIDIR/man 0000 00000)00000O0O0OOOODOOOODODOOOOO
O00000O00O0DOO0ODODDOSclabO000DO nelp 00 O00OOOO0O0OO0OOOOOO
gobooooooooboobboobobob bbb b bboboDobOob O
0000 Dapropes UUUU0O DODOOD0OUOOODDODODOODODODODOO apropesd0d
O00O0ODOhelp O apropes U OO UOOUODOOODOOODO itemd DODODO ODOO
O00000 men 000 .cat D whatis OO ODODDOOOOOODOO

000000 helpO apropos 1000 000DOOODOODOOOOOODOO SCIDIR/man/Chapters
goobooooooboobobooboboboobbooboobobobobboooobDooob O
ODOOREADMEOODOOOOCOODOOOO

e maple ] DO O0OODOOOMaple 000D OODOOOO0OODOODOOOODOOOO Maple O
000000 ScilabO0O0O0ODOOODOODDOODODOOOODODOOODODO Scilab O
oobobobob00O Fortran DO ODOOOOOOO

e routines 0 00 000000000000 0000C00O0D0O00000O0000000C0 OO
000 default 00 OScilab 0000000000000 000000000000DOO00O
000000000000 O00000ODE/DAEOODOODOOOOODOOOOD COD0
0 Fortran 0 0000 0000000000000 00D0000OMOOOOOOOOOODN
0oo)

e intersciJ OO0 Fortran OODO COOUOOOOODO SeilabOO0OOOO0OODDOOOOO
000000 Oo0o0oooo0oo0oooo0oo Do oo ooon
O0bin/intersci D 00000000 intersci OO0 0O0O0O0OOOOOOOOOO
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e scripts 1 00 000000O0DODODOOODOOOOOOODOOODDODOODOOOSclabO
gbobobooooooboooo boboboboooobobobooboboo

e tests: 000 O0OO0ODOOOScilab OODOODODOOOODOOOODODODOOODOOO
ODO00O0000000D0OD0 “demos.tst” O O0ODODODODODOOOODODOO

o tmp: 0000 D0O000O0ODODOOODOOOODOODLODLDOOO0ODLO0ODOO0On

e utilO O Ofortran 0000000 ScilabOOO0O00OO0OODODOODOOOOOODOODOOOO
goooobbooboooooooboobood

e xless JOBerkeley 00O ODO0OO0OOOODOOOOODODOOOOOO

e xmetanet U UUODUDOUOOxmetanet D 00O O00OODOO0OODOODOOOOOODODOODO
O000000DODODODOOO0O0OOSclab 00O metanet() OO DOOOOODODOO

1.3 ScilabOODOOOOO0OO0OODOODOOODODO

Scilab 0 O0DO0OOOOO0ODOO0O0OO0OO00O0OOO0O0OO0OOOO Unix-XWindow 0000
gbooobooobboooobonoo

Dec Alpha (OSF 3.0)0Dec Mips (ULTRIX 4.2)0Sun Sparc stations (Sun OS 4.1.3)0Sun Sparc
stations (Sun Solaris 2.3)0 HP9000 (HP-UX 9.01)0SGI Mips Irix 5.20IBM-RS6000 (AIX 3.2)0
PC 486 Linux

gooobbboobooooboooboboDbobo:

-00000D00O0000: ScilabOOuwnpack D0 OO0O0DOO0ODOODDOO 75MbOD0ODOCODOO
000000000 UDoo0o0oooooOooUoOoO) X Window (X11R4 000 X11R5)0C
000000 FortranOO O OO (D00 OfR2)000000OX11RAODOO0OO0OOOODO Athena
Widgets 0 00 00O libXaw.a O libXmu.a. 00000000

-000000000: Scilab 00000000000 OOOOOD (DODODOOO)OODOO
0000 20 Mb O OO Dec Alpha Dec Mipsd Sun OSO HP9000O IBM-RS6000 OO0 000000
00000000000 fortran 00000O00D0DO0O OO0 OSun Solarisd SGIO PC Linux OO
O000000000DO0Scilab 0000000000 DODODOOODO Fortran ODOOOODODOO
O00000000ScilabO00000O0O0(DO0O0OOOOOOO)O0O0O0O00OOOOODOOOO
00000000 (000)0D0OO00O000O 2Mega0 00 (DOOOODOO)DOODOOOOOODOO
O0000000o00OOo00OOo0O0O000O0O0ooDOoOooOoUooOoOoO(CoooooooooO)oO
0000000000 (D000 routines/stack.h D00 OO0 vsiz) 00000000 OOO
gooooog

1.4 ScilabOO0OO0OO0OO0OOOO0O

1.41 0O0OO

Scilab 0 OO0 OO OODO SCIDIR/pin 000D scilab 00000000 OOODOOODOOO
(SCIDIR U Scilab 0 DD OO OOUODOOODUOOODOODODOOOOOD)0O0OODOOOOODOOO
Scilab 0 Xwindow 000000000 U0OOOOO0OOOOOO“0O000OOO”O00O0O0OO
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O-nw 0000000000000 0O0OO0O0O00O0O0O0000O000)000 SscilabOOOO0O0OO
gooobooobd --»>0000000b00b000bobo:

Scilab-2.x ( 10 February 1995 )
Copyright (C) 1989-95 INRIA

Startup execution:

loading initial environment

-->

ScilabOODOOODOOOODODOO0OO0OOOOD Demes 000000 OOOOO Introduction
to SCILAB 00000000 0ODODOODO0O0ODO0OOONDDOODO0D0DOOOOoOoOooogo
O0D000000OsStep OO0 Abert 000000 DOOOODOOODODODOO

0000000000 (SCIDIR/scilab.star 00 0000000000 O)000O0OOOOO
oooo

ScilabOOOO0O0DOODOODODDOOODOODDODOOODOODSclabO000D0D0OO0OO0O
oooooooog

1.4.2 0OUOO0OO0O 0000

goboobooooooobobooooobbbboooobooooooooobboooon
gogbooogooooboboooboboobboboobbobobboooobboobobooobog
ODO00000OScilabOO0OD0OOO0O0OODOODOOOOO0OOOOODOOODOOOODOODOUODOO

oobobpbooobobobbobboooboDboUubUb Emacs0doooboobbooogon
000 (Ctrl-<chr> O OCONTROL O OOUOODOOOODO <chr>0000000000000O0O)
gog o

Ctrl-p 00DO0O0OOOOODODOO

Ctrl-n 00DOOODOODODOO

Ctrl-b 00 0000O0O0OODOO

Ctrl-f000DO0O0OODO0O0OO

Delete DODODOODOOODOO
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e Ctrl-h OO DOODOOODOO

e Ctrl-d (0DDODOODO)0DOUODODOODODO

e Ctrl-a000DOODOO

e Ctrl e JOOOODODOO

e Ctrl-k OODOOODOODO

e Ctrl-u JODODOODODOODOO

e Ctrl-y U0ODODOOOODOODOODODDOO

e lprevprev 0 000000000 DODOOOOODODODODODOOO

e Ctrl-c Scilab DD D0 D000 O0OOOO0OOO(DOOOOODOODODOO)stopO0 0000
oo00o0OoOoOoogoctrc0DODOODDOOO

00D000O00DODOO00O00O0000000DO000DO0DOOO0DO0OO0O0b0D0O0O0 Scilabd0O
O000D0000DO0ODO0O0OD00O0O0ScilabOD0OOO0OO0ODOO “load” D000 OFile Operations
gooobooboboooooobobd

1.4.3 00O

Scilab 0000 O0OO0OOOO0OOODOODOOODODO

e Stop JO0ODOODOODODOODOOOODOODOO
e Resume OO OODO StopUUOOODODOODODDOODOODOOOOODOOODOO

e Abort 000 (DDOD0UODOOO)pause 00D OO0 OOODOODOOOOOODOOODOOOO
god

e Restart 0D OO0 0ODDOODODODOOOOODODODOOODOODOOOO
e Quit Scilab OO OO DOODO

e Kill Scilab 000 OD0OO00ODO kilODOOO

e Demos 00 DODO0OODOODOOODOODODODO

e File Operations 0000000 ScilabOOO0OO0OCODOODODOODOOOOODOOOOOO
gogbooboboboooobobobooobbobboboooobobobooooobg
goboboooobobbooboobooboobobbobbobooobboboobooobbDbo
goobobooooboooooobooboooooboobobbooboooobboboobob
gooboboobboooobooooon

e Help: J0D0ODODDOOODODOOUOOOOOODOODOODOOODOOOODOODODOODOOSclab
00000000 help <O00>0000000000000
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o +-: 0000 0ODOOOODODOODOOOOODDOODOD

e Raise Window : 0000000000000 O0O0OCODOODOOOOOOOODOOOOO
gbobooooooooboooood

e Set Window : 0000 000000000000 OOOODOOOOOOOO(ODDOODOOO
O000000oo0ooooooooooon)

0000 SCIDIR/bin/scilab -nw O OScilab O “no-window” OO0 OO O0OOOO

1.4.4 ScilabOOOODOOO

000000000 DO0ODOOOSclab OO000OO0OOODOOODODODOODODODODOOOOODO
000000000000 00DO0DOXIldefaults OO0 O0O0ODODOOOOOOODODODODOO
gooboobobbooooboobobobbbbboooooobuooooobbboobooo
goooboobooooboooboobboooobobooooobbobobobooboooboon
Xdefaults OO O0ODOOUODOOOOOODOOOOODOO XwindowOOOODODDODODODDODO xrdb
Xdefaults 0O 00DOO0DODOOODODOODODOSclab D O.Xdefaults 0 OO0ODOOO0OO
O00000D0DO0OO00O0X1l-defanlts 00 O0DO0OOO00O0OO00OO0OO0OO0OOODOOOOODOO

gooo :

Xscilab.color*Scrollbar.background:red
Xscilab*vpane.height: 500
Xscilab*vpane.width: 500

Xdefaults JUOODDDOODODDOO0ODDOOODODOb/00x6500 000 00 500x500 000
gbooboboboboobobboobbobooobobboobooobobon

1.45 0O0O0O0OOOOOOOODOOO

gboobooooboboboooobbbooobooooobbooboboooobobooobg
(CR)yOOO00O0O000OU00000oooOU00bO0ooOOU0o0oOooOoUoODoooobLUOOo
goobobobbooboobooboboon

-->//Two commands on the same line
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-—>c=[1 2];b=1.5
b =

1.5
-->//A command on several lines

-=>u=1000000.000000* (a*sin(A) ) **2+2000000.000000*a*b*sin(A)*cos(A)+1000000.000000* (b*cos (A) ) **

u =
81268.994

-—>u=1000000.000000* (a*sin(A) ) **2+. ..
2000000.000000*a*xb*xsin(A)*xcos(A)+. ..
1000000.000000* (b*xcos(A)) **2

u =

81268.994

010 2000 o0 A00O0OO0ODOOOO0ODOOOO0ODODDODOOOOOODODDOODLDDODO
Scilab 0 OO00OO0O0OO0O0O0OOOO0ODOOOO0OODOOOOOO0OO2000000000000000O
o0oo000O0oOoooboOog2000000b0b00000o0oogoDboooggooo«...oOoo
gobobooobboobobboobobooobobbooooouooobooboobobbooon
gobooobooboobobobobod

//0000000000O0Scilab0000000O0O@QUOOOODOOOOO)

-->a=1;b=1.5;

—=>2%a+b**2

ans =
4.25
-->//We have now created variables and can list them by :

-->who

your variables are...

ans b a bugmes WF WT TMPDIR
SCI scicoslib xdesslib utillib  tdcslib  siglib
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s2flib roblib percentlib optlib metalib  elemlib
polylib autolib armalib alglib hz hs Jnan
%inf %t %t heps %io %i %e
hpi
using 3065 elements out of 1000000.

and 34 variables out of 499

00000000 abc AJ0OODOOODOODOOOODODOOO “O0”’00000000ODDOO
goooooooooooooboo

gbooboooboboobobooooooobobooobbbobbooobbb b0 ans0O O
goood

-->sqrt([4 -41)

ans =

0000000000000 (0000000 0)00000U0O0OOUoOOOOOObOOoOoOOoOO

-=>p=poly([1 2 3],’z’,’coeff’)
p =

2

1 + 2z + 3z
-->//p is the polynomial in z with coefficients 1,2,3.
-->//p can also be defined by :

-=>8=poly(0,’s’) ;p=142*s+572
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-->M=[p, p-1; p+l ,2]

M =

! 2 21
! 1+ 28 + s 2s + 8 !
[} [}
[} 2 [}
! 2+ 28 + 8 2 !
-=>det (M)

ans =

2 3 4

2 - 4s - 4s - s

goooboboboooboooobobobooooboobobobbooooboobobboooon
Ubo0ooobobOotbdetdgooboobobOOO

-=>z=poly(0,’z’);

-—>f=[1/s ,(s+1)/(1-8)

s/p , 872 ]

£ =

! 1 1+s !
| - eemem—— |
! s 1 -85 !
| |
! 2 !
! s s !
| I - |
! 2 !
! 1+ 28 + s 1 !

000000000 000D0+«0000000000 1ist(Cr’,num,den) JO00000 Onum O
denO00OO00OO0O0OO0OD0OOODO
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-->pause
-1->pt=return(s*p)

-=>pt

UooobbD pause 000000 0ODOOO0ODOOOODOOOOOOODODOD -1->0000000
000000000000 (oo HhooooooooOoOOoooOooOooOoDoOooooooooo
gogooooopoooooooood

U0o0oouobioooboobbDDreturn 000000 0ODO0ODO0O0O0O0OODOOODOODO
U0 return 000000000000 0OO0OOO0ODOOODODOOODOOOOODOODODODOOODOOO0
pause JO O O0O0OO0OO0DO0OOOOODOOO

-=>f21=f(2,1);v=0:0.01:%pi;frequencies=exp(hi*v);
-->response=freq(£f21(2),£f21(3) ,frequencies);
-->plot2d(v’,abs(response)’,[-1],’011°,’ *,[0,0,3.5,0.7],[5,4,5,7]1);

-->xtitle(’ ’,’radians’,’magnitude’);

00000000000000000 f00000000000000000000000000
frequencies 00 0000000000000 0O000D000O00O00O0O00O0000000000OO
00000000000 freq0000000 00 Onumer(£21) 0000000000 Odenom(£21)
000000000000000000000000 plet2d0000000000(0 1.10000
ooooo)
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2

1 +2s + 8

-—>horner(f,w)

ans =

OO0 horner 00000000 OOOOOO (DOODOODO)0000DOO0DOOOODOOO(M@DO
000000000 20000000000000)

__>A=[_1:O;1:2:| ;B=[132;233] ;C=[1,O];

-->Sl=syslin(’c’,A,B,C);

-->552tf(S1)

ans =

] 1 2 ]
|l e o ]
! 1 + s 1 +s !

00000000000 00000000000000000000 syslinO0O0O0OO (°¢?)
O000si0000000 (A,B,)0000000ODOOOO ss2tf00S100000000OCO
good

-->8=poly(0,’s8’);

-—>R=[1/s,s/(1+s8),58"2]
R =
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-->Sl=syslin(’c’,R);

-—>tf2ss5(S1)

ans =

ans (1) (state-space system:)

1ss

ans(2) = A matrix

! - 0.5 -0.51
! - 0.5 -0.51
ans(3) = B matrix =

! - 0.7071068 0.7071068 0. !
! 0.7071068 0.7071068 0. !

ans(4)

C matrix

! - 1.4142136 0. !

ans(5) = D matrix =
] 2 1
! 0 1 s |
ans(6) = X0 (initial state) =
] O. ]
] O. ]
ans(7) = Time domain =

gboogoRrROODOOODOODDOODO

sSl00(@0)0000 ROODODOOODODO0O0OODDOUO0OO0ODOODt2ss 001 000000
pOoboobO0bOOonoooobobobonbon

00000000 (ro00000C000D)0000000D0O0OOOoO0ODOOOOOOnOO
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-->811=[S1;2#Sl+eyel

sll =

1 2 !
1 1 s s !
1 - e - ]
[} ] 1 + 8 1 !
1 ]
1 2!
| 2+ s 2s 2s !
Ve —— _—
] ] 1 + 8 1 !
-->size(s11)

ans =

! 2 3. !
-->gsize(tf2ss(sll))

ans =

! 2 3. !

sl100s10 2%31 +eye U 0D 0OOO0O0OOD0OOO0ODOODOOD0ODOO0ODOOODOOOOODOO
Ub sidgoooooboooooogd

-->deff (’ [C1]=compen(Sl,Kr,Ko)’,[ ’[A,B,C,D]=abcd(S1);’;
’A1=[A-B*Kr ,B*Kr; 0*A ,A-KoxC]; Id=eye(A);’;
’B1=[1Id ,0%Ko; Id ,-Ko 1;°;

’C1=[C ,0%C];Cl=syslin(’’c’’,A1,B1,C1)’> 1)

-=>comp (compen)

b0 KeOOOOOOOOOOD KrOOODDODDDOOODOOOODODOODODODOOOOoOoDDOO
00 (c1)J0000 compen OO 0OO0O0OO0OOOOOOOOODOOOOOOOO
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gbooobobooobooobbbobboobbbodnoo0bo0uonoobOnd compen OO
comp UOOO0OO0O0OO0OODOOO

-->A=[1,1 ;0,1]1;B=[0;1];C=[1,0];S1=syslin(’c’,A,B,C);

-->Cl=compen(S1,ppol(4,B,[-1,-1]1),...
ppol(A’,C?, [-1+%i,-1-%i1)*);

-=>f=C1(2) ,spec(f)

f =
! 1. 1. 0. 0. !
' -4, - 3. 4. 4. !
! 0. 0. - 3. 1.1
! 0. 0. - 5. 1.1
ans =
! - 1. !
! - 1. !
' -1, +1 !
' -1, -1 !

000000000 compen 00 0000000000000 000000000000O0 ppol
000000000000 000000000000 f00000000000000000000
00000000000000000 spec000000000000(000000 compend OO
00000 (81)0000000000 (1) 000000000000000 deff 0000000
000000D00000000 Scilab 0000000000000 Ogetf 000 ScilabO000 O
oooo)

-->//Saving the environment in a file named : myfile
-->save(’myfile’)

-->//Request to the host system to perform a system command
-=>unix_s(’rm myfile’)

-->//Request to the host system with output in this Scilab window
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-—>unix_w(’date’)
Sun Nov 17 10:48:13 JST 1996

Unix U0OoooboooOoboboboobobobobobn:- 00 gubooboobobobobon
goooopooboooooobboogn

-—>foo=[" subroutine foo(a,b,c)’;
? c=at+b’;

’ end’ 1J;

-->unix_s(’\rm foo.£’)
X
!--error 10000
unix_s: rm: foo.f: No such file or directory
at line 23 of function unix_s called by :

unix_s(’\rm foo.f?)
-—>write(’foo.f’,fo0);
-—>unix_s(’make foo.0’)

-->1ink(’foo.0’,’fo0?)

-=>deff (’ [c]=myplus(a,b)’,...

’c=fort(’ ’foo”,a,1,”r”,b,2,”r”,”out”,[1,1],3,”r’ ))))

-=->myplus(5,7)

ans =

12.

Fortran OO ODOODODODOOODODODODODOODUOOO0OODLDOODOOOODODDODDODOODLO
0000 (000000 D0ODo0O0O0)0000 SclabOOOOOODODOO0OODOOOOO myplus OO
gobooooobobooood

-=>deff (’ [ydot]=£f(t,y)’,’ydot=[a-y(2)*xy(2) -1;1 0]*y’)



010 OO0 17
-=>a=1;comp(f);y0=[1;0];t0=0;instants=0:0.02:20;

-->y=o0de(y0,t0,instants,f);

-->plot2d(y(1,:)’,y(2,:)’,[-11,’011",’> *,[-3,-3,3,3],[10,2,10,2])

-—>xtitle(’Van der Pol’)

10000000 £#(t,y) ODO0ODOOOOO0O0OOO0O0OO00O00OO0ODOOOOOOOODOOO a0
gobooboobooboboboooboooood

0000 odeld £(t,y) DODODOO0OUOODOOOOOOO t=00000 y(0)=(;0000000
ob ¢=0,.02,.04,...;200 000 0000000000000 000O0000O00O000O0O 120000
gbobooooboobobbobooooooboboobobb20000b0b0b0b0b00DbbOod
ggod

-—>m=[’a’ ’cos(b)’;’sin(a)’ ’c’]

m -

la cos(b) !
] ]
Isin(a) ¢ !
—-=>m*m’

!——error 43

not implemented in scilab....

-—>deff(’ [x]=Ycmc(a,b)’,[’[1,m]l=size(a);[m,n]=size(b) ;x=[1;’;
‘for j=1:n,y=[1;’;
for i=1:1,t=’? ??;?;
>for k=1:m;’;
’if k>1 then t=t+’’+(’’+a(i,k)+’ )%’ 2+ (2 2+b(k,j)+’?)?7;7;
Yelse t=22(’7 + a(i,k) + *2)*?2 + 22 (2 + b(k,j) + )’ 7;7%;
’end,end;’;
y=Ly;t],end;’;
*x=[x y],end,’])

-=>m*m’

ans =

1 (a)*(a)+(cos(b))*(cos(b)) (a)*x(sin(a))+(cos(b))*(c) !
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! (sin(a))*(a)+(c)*(cos(b)) (sin(a))*(sin(a))+(c)*(c) !

gbooboboooboooobboboobooobbooboobboboboooobo20bb00004d
O000000000OScilab0000000000000OY%emc 0000 (DOODODO)0OODOO
000000000000 00000O(detf 00 0000O0ODOOOOOOOODOOODOODO 200
0000000000000 000000000) %eme D 0000000000000 %O OScilab
0000000000000 0O0000O00000D0O0Oeme 000000 O%“hain multiply chain”
(00000)0000000000000O0O0000O0O0O0UO0DO: 0000000 ObUOOOOO
gboooboogbbobooboooon

-=>deff (’ [yl=calcul (x,method)’,’z=method(x) ,y=poly(z,’’x’’)")
—-—>deff(’ [z]=methl1(x)’,’z=x")
——>deff (’ [z]=meth2(x)’,’z=2%*x"’)

-->calcul([1,2,3] ,methl)

ans =

2 3

-6 + 11x - 6x + X

-->calcul([1,2,3] ,meth2)

ans =

2 3
- 48 + 44x - 12x + x

O0D0O0OD0000C0O000DOODOO000DOO0ODODOO0OO000OOSclabDO0DOODOOO
gobbooobobooooobodooooooobobbboobooboboooooboboog
oo

-->quit

Scilab OO OO0 O0OO
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magnitude

07 -
06
05
04 7
03
02 7
01 7

00 -

0.00

0.88

175

01100000

Van der Pol

263

3.50

012000000

redians

19



20

20 Oogd

Scilab 0 OO0OO000O0O0OO0OOOOO00OOOOOOODODOOOUODODOOODOOOOOOODO
000000000 (booU0L)00o000U0U00OO00000DLOODO000DOoDOoDoOoOOoOooOOoOO
gobobobopoobobooooboboobboooobobobobobooobobbbooobooboobod
gobboboboobooboooboobooooooooobobooobobooboboboobooboobbd
goooooboopoooon

2.1 DO0O0OO0

Scilab 0 00O000D %i, %pi, %e,and %eps 00000000000 0D0000 %0 v/-10
O0000%pi0 #=3.1415927.---0%e 00000000 e=2.7182818---O%eps 0 OO OO O
0000000 (hepsOO14+%eps=10000000000)000%inf0 %nan 000000
“infinity” O “NotANumber” 00D OO0

O00000000% 0 000000 “0 (true)” O “0 (false)” 000 O0O00%t 0 0O1==
00000ogoY%sf00~%t 000000000000 0D0000O D

o0oooooo*“c0000oooo0”000ooooooooooooooooooooon
000000000000 0save 10000000000 DOOO0O0O0O0ODOO Opredeft 0000
O00D0000oooooooO0 “0000000000” 000000000 oooooooog
0000000000000 0000000000000000 00 <home dir>/.scilabO 00
oooooooooo

2.2 0O0O0OO

Scilab 0 O0OOO0O0ODOODOOOOOODOOOODOOODODOODOOOOODODOOOODOOOO
goboobbooooooooobuooboobooobo
O00000DO0ODODO0OD0ODOD ScilabOOODDOOOODOODODODOO

goob ObOooboboobbooooboboboo0oodoooboobobooooooboog
gobobooobooooobobbon

-=> a=b+2x%)i

a =

-=> B=-2+]i;
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-—> b=4-3x*i
b =

--> axb

ans =
26. - 7.1

-->ax*B

ans =
-12. + 1

-=> c=atb;

Scilab 0 O0ODOOO0OODOOOOOODODOOOOOOOOOOOOOOODOODOOOOOO
000000000000 0bO0O0ODOOo0O00OODODO0O0O0OOOnD sclaboOoooooDOODO
000000000000 O00O0O0OOOOOOODODO)

goob oooooooboobuoboooobooboobooood

-—> v=[2,-3+%1i,7]

v =

-—> w=[-3;-3-%1i;2]

W =
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! - 3. !

-=> v’+w

ans =

! - 1. !

—-=> V*W

ans =
18.

-=> W’ . kv

ans =

! - 6. 8. - 6.1 14. !

000 (0ooo000)0o00000000000000O00O0O000O0OODOoOLOoDOoooOO

gobooboboooboobobboooooooooboobbobbboobbobboobobonbg

00 0000000000000 (booboo0ooo0oUoO0ooOooUoooOoo)ooooo

gooobbobboooobobboobooboboboooooobobboboobobbbo

000000000000 00o0o0oOoUoD (»)000 (/)oooooo
gooboobobobooooooobogn:

-—>y=[1 +3]

-—>w=[1+ 3]

W =
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-—>u=[1, + 8- 7]

gboboobbooooobobobbb ooooooobobooooboooog

--> v=5:-.5:3

v =

! 5. 4.5 4. 3.5 3. !

gobooooboobobobobobboobo200b00b0o0ooobob3goboobooooobobaono
goobbo0ooooobbOod0 100000b0oenesU zeros UOOOOOOOODOOOO0OO
gooooboobood

--> v=[1 5 8]

V =

! 1 5. 6. !
--> ones(v)

ans =

! 1 1. 1. !

ans =

--> ones(1:4)

ans =

--> 3%ones(1:4)

ans =
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-—>zeros(v)

ans =

-->zeros(1:5)

ans =

ones U0 zeros U UOU00O0ODODOO0O0OO0ODODODDOO 1000 OOOO0OOOODDODODO
gboooobobooboooobobooood

g oOoobobobobooboboboboboobbbooooboobooooobooboboooo
gooboboboooooboobobobooobooboobooboboobobboobobboogon
00000000O0go0obO0oo0DOoObOO0bObOOo00UooObOObDOogbO ..«goo /00O
gobogoboobooooon

--> a=[2 1 4;5 -8 2]

b =

! 1 1. 1. !
! 1 1. 1. !
--> a.x*b

ans =

1 1. 1
! 5 - 8. 2. !
--> ax*b’

ans =

1 7 7.1
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goooooooooobbbOoDooobb 20000000000 enesJ0000O000OO0
000000000000 (zeros0000)00000D0D000ODO matrices 100000000

gboodobboobooooboooooooooboog

a=[1 2;3 4]

c=[9 10;11 12]

9. 10. !
11. 12. !
d=[a,b,c]
2 5. 9
3 4 7. 8 11

! 1 4 6. 11. !
! 5 8. 10. !
! 2 7 9. 12. !
-->f=eye(e)
f =

! 1 0] 0. 0. !
! 1. 0. !
! 0] 0. 1 0. !

-->g=eye(4,3)

10.
12.
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o
"

S = O O

O O O =
O O ~ O

Udddogboonoooooobobbooonoooobbbobd0bDOmatrixgonooo2d
goboooboobboobbobbd do0oboobboboob e0boobbDO0o0 da0b0O0O0
goodddbedbbobooooboobobbobbboboobobboooboobobon
OO0 eyeJ0OUDOOODO 10000 mxnOOO0OOODDOODO(OOODOO e0O0O0OOOOM
Onrn0eD0000O0OOOO)
000000000000 00O0000000000000000(00 0000000 Ohelp sparse
0000000oo00oO)000oOooU0oOU0U0oooUoOOOOOOUbOOOoo

23 OOOOOO

goobbooboboboooboboooobobbooobooobooob+0b0ob0ooooon
gobooboooobobbbboodooooooobboboobboobobooboooobonon
gogboboboobooooobbbobobobuoboobooobobobooobooobobooboba
gobobobobbooobobbboboboobooobooboboooobobooon

-=> x=1,y=2;z=3;w=4;v=5;

-——> a=[’x’ )y);)z) ’W+V’:|

a =

'z w+v !

--> at=trianfml(a)

at =

'z wtv !
! !

10 zxy-x*(w+v) !

--> evstr(at)

ans =
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! 0. -3.!

00 Scilab 000000000000 trianfml 000 a 00000000 3000000000
0D0000000000000Oevstr 0000000000000
00000000000000000000000000000000000000000000
0000000 O0000000000000000 320000000000)000000000
000000 Seilab 000 000000000000020000 s0t000000000000
0000000002000000000000000Scdleb00000000000000000
000000000000000000000(260000000000)
000000000 +263)— (t+2)s+ts2+s2 000

-->getf ("macros/make_macro.sci");
-->3=poly(0,’s’);

-=>t=poly(0,’t’);
-=>p=list(£72+2%t"3,-t-t"2,t,1+0%t) ;

-->pst=makefunction(p)
pst =

[pl=pst(t)

-=>pst
pst =

[pl=pst(t)

-=>pst (1)

ans =

2 3

3 -2s + s + 8

gobooobobooob p00ob0Dbb sOOO0O0O0OOOoOobLOOODOOO0OO0DLOOODODbObOO0
Up0000000 pstd00D000MO0 makefunctionJ OO ODODOO0OOD0O0O0OD0ODOOOO
goboobbooobbobb +00boobbbbbbbboobog estdbobOoonDO
gboboooooon

function [newfunction]=makefunction(p)
n=size(p);
num=mulf (makestr(p(1)),’1’);
for k=2:n,
new=mulf (makestr(p(k)),’s”~’+string(k-1));
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num=addf (num,new) ;
end,
text=’p=’+num;
deff (’<p>=newfunction(t)’,text),

function [str]=makestr(p)
n=degree(p)+1,
c=coeff (p),
str=string(c(1)),
x=part(varn(p),1),
xstar=x+’"’,
for k=2:n,
ck=c(k),
if ck<>0 then,
str=addf (str,mulf (string(c(k)), (xstar+string(k-1))));
end;

end,

000000 makefunctionD OO OO p000O0O0OO pst 0000 00 UOmakefunction OO
oobooo200000000000000000O000O0O00O makestr0O00O0O0O0OO0DOaddf 0O
0000000000000 000mlf 0000000000000 0000O(000 Daddf(x,y)
00000 x+yOOOOOOO0)000O00O0ODO0OO0OO0OOO0OOOODOODOOOOOOOOOODOO
deff 000D UODO deff 0020 0000000000000 0O0OOOODUODODODODO pOO
200000 °[pl=newfunction(t)’ 0 text 000000000 DODDOOODOD textOO20
ooobooobooog

24 0O0O0OOOODOOO

Scilab 0 OO0O0OODOODOOOO0OOODOOOOOOO0OOOOODOOOOODODODOODOOO
O00000000DO00D0OSclabOO0O0 poly00O0DODODOODODOOODODOODOOOOOO
goobopooobood

--> p=poly([1 2],’s’)
p =

2

2 - 3s + 8

-=> g=poly([1 2],’s’,’c’)
q =

1 + 2s
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--> ptq
ans =

3-8 +s8

--> p*q
ans =

2 3

2+ s - 5s + 28

--> q/p
ans =

2 - 3s + 8

godbpb00 10 20000000000 O 0OD0OO 10 2000000000000000
U0 pely0 3000000000000 0O0O0DOO0ODODODOOOO0O0ODODpelydODOOOOOO
gobobobooooobobboobooboboooooooooobooobooouooboboo

--> poly([1 2;3 4],’s?)

ans =

2

-2 -5bs + 8

gobbooooboobooooobooooboobbooboooobobboboooobobogon
gooobobooooobooobobooobooboobog

gbobooboobooboobbobbooooooboooooboboouooooboobooboboo
00000000 ScilabOOOODOOOOOOODOOO

--> s=poly(0,’s’)

S =

--> a=[1 s;s8 1+s5°2]
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b =
[} 1 1 [}
| cmmeee | e [}
! 8 1 +s !
[} [}
[} 1 1 [}
] _——— _—— ]
! 2 !
! 1 + s 8 !

goobooboogbboobboooooboboboooooboboboooonog

25 0O0OO0O0OO

oO00o0O00O 0 0000000000000 OO0DODOO00O00ODO0OOO0bDOOOOoObooO
goooooopooboobbbobooboobooobbobbooobobooooobo

gbobooboooooogobobobobboboooobobooooooooobb==0 ~00bd

BOOOOOOOOOor(B) O and(B) OOODO ord andOOOOOO

-—>%t
o=

-->[1,2]==[1,3]

ans =

' TF !

-—>[1,2]==

ans =

' TF !

-—>a=1:5; a(a>2)



020 0000 31

==>A=[Yt,hE, %t %E, 0, hE];

-=>B=[%t,%f,%t, %t %t ,%t]
B =

'TFTFTT !

-->A|B

ans =
'TFTFTT !

-—>A&B

ans =

' TFTFFF!

gbobobooboooo200b0000bb0boooooooboboooobobobooooon
goooooooobooood

26 U0OO0OOOOOO

Scilab 0 O0O0OO0OOOOOOODOOODOOOODODOODODOOOODOOOODOODDODODO
gobogboobooobbobboooogbobooooooobobooo bbb bobooobO
oooobboooooobgooooobooogboboooobobboobobobboboobo
00000000 DOSclab0 0000000000 ODOOOOODODOOOOOO0OODOOODODOOO
oboobooboobOodbsyslinOdoooooobooobobooooboooobOoo
oboboooooboobobooobobbobogobbboobobobobooooobD Db DbOob oo
O0D0O0O0OD0O0ODOOO0ODO0O0ODOsyslin00ODODOOODOOOS1=syslin(’dom’,A,B,C,D,x0) O
00 Sl=syslin(’dom’,trmat) 00 0000 00dom 0000 °c> 000 °d> 0000000003
000000o0ooo0ooo0ooOoOoO0ODOOOUDOOOD (OODODDODODOOD)0DDOOO0OOO
oobooobobobooobuobogbbbbouboph x0o000D0OD0OUODDOOODOtmat OO
00000000000 (Doo0L0)0Do0oo0o0DoUOO00DOOOOoOODOODOOOODOO
O0ss2tf D00 tf2ss 000000 0OODOOODOOOOOODOOOODOOOOOOOOO

-->//1list defining a linear system

-—>A=[0 -1;1 -3];B=[0;1];C=[-1 0];



020 0000

-->h=syslin(’c’,A,B,C)

h =

h(1) (state-space system:)
1ss

h(2) = A matrix =
0. - 1.1
] - 3.1

h(3) = B matrix =
10, !
T

h(4) = C matrix =
' -1 0. !

h(5) = D matrix =

0.

h(6) = X0 (initial state) =
10, !
10, !

h(7) = Time domain =
c

-->//conversion from state-space form to transfer form

-—>hs=ss52tf(h)
hs =



020 0000

1 +3s + 8

-->size(hs)

ans =

-—>hs(1)

ans =

-->hs(2)

ans =

-->hs(3)

ans =

2

1 +3s + 8

-->hs(4)

ans =

-->typeof (hs)

ans =

rational

-->//inversion of transfer matrix

-—>inv(hs)

ans =

33



020 0000

-->//inversion of state-space form

-—>inv(h)

ans =

ans (1)

1ss

ans(2)

(]

ans(3)

(]

ans(4)

(]

ans(5)

1 +3s + 8

ans(6)

(]

ans(7)

-->//conversion

-->ss2tf (ans)

ans =

1 +3s + 8

(state-space system:

A matrix =

B matrix =

C matrix =

D matrix =

X0 (initial state) =

Time domain =

of this inverse
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— 51 S9 s1*s2
51
—1 sl+s2
52
51
[s1,82]
52
51
—} [s1 ; s2]
52
51
sl/.82
52

021:00000000000

00 Scilab0OO0OOOOODODOODOOOD nO0O0O0O0O ’1ss’ 0000000ODODODOOOO
gobodobooooobboboboooobboooobobbo s0obbooooobbooobg
0000000000000 000000000(@E=Az+Bu,y=Cz+ Du,z(0)=20) 0000
U’cc0bog0bobbobooooobbboooon

gbobboodooboobboooboboooobobobobobooboboooooobobob b
goboobobooonooooobobbbobboobobobbo0obboobg ss2ef 0000
gooboboobooboobooooon

gooobobobooboobobobobbooooboooboboobbobbobo400000
gooobobooooboobobopbobbooobobobbooobobobboobo c200bb20
gbo300b00oooobooobooouoooob 400bb000oobobboboooobobd
000 °’c>000Scilab00000CO00O00ODOOOO0DOO0ODOOOOOODODODODOODODOO
gooboobbooooboobobobobooobbobobdob0 boooboooobbDDbDDoo
gbooooboboobooboobboooobbooooooobooobon

gbooooooooob 2100000000000000002000 s10 s20000000
goboobboooooobdoboobobobbo 2100000000000 0000bDDOn
O0D000DO0O0OO0O00O000D0Ost/.s20000000000DODDOODOO



020 0000

36

gbooobooobobobooobobobboooobb200000000 tf2ss U ss2tf
gooboobooooobobobbooobobbbobobobobboobooboobobooon

gobobooooboooboobbooon
000000000000 0DODO0ODO0O0DODO0 ScilabDOODOOODOOODOO

-->//system connecting

-->s=poly(0,’s’)

S =

-->ft=1/(s-1)
ft =

gt =

-->ft=syslin(’c’,ft);
-->gt=syslin(’c’,gt);
-->gls=tf2ss(gt);
-->ssprint(gls)

l 2 1x+ |1 |u

™
"

| 1 1x

<
"

-->hls=gls*ft;
-->ssprint(hls)

| 2 1] | 0 |
x=]10 1 lx+]1|u
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y=11 0lx

-—>ht=ss2tf(hls)

ht =
1
2
2 - 3s + 8
-=>gtxft
ans =
1
2
2 - 3s + 8

goboobboobobobobbobobobobooooobuoboooooobDobboooDog
go0o000 syslin0D0O0O0O0O 20000000000000000000000000000O0
000000000000000 (DODoO0D000DO)00DU0oOO0DOOO0OOoODOoOoOoOoOo2000
gobooboboobbobboboooboobboobooobobDboon ef2ss00nogd
000000 ssprint0 0000000000000 O0DODOOOOODODOOOOODOOOOOO
00000000000 D0)00200000000000000000O0O00DO2000000
googoobopoboooobooobbbooooboobobobooooooobbobobooooobg
goobooboooobobobobob0ooooboobooobbbobbbbo0oDD ss2¢f 00
goboboboooboooobbobbooooobbouonoooooobobon

2.7 00 (0DDDO)

00 (00000000 0)00sScilab000000O0O0O00OO0O0OODOOODOOOOOOOOO
gobogoooboobobooogoouoboboobobobboboobobobboooobbobon
gbooobobooooooboboboooobobboooooooboobboboooooobbon
gooboboobobbobobbbooooobobooooobooboooooboooboog
goooooobooooboobobboobobobooboboobbobbobooooobooboba
O00000D0O00D0ODO0OO0OD0ODODOO deff 0000000 ScilabO00D0ODOOOOO0DOODOO
gognf

-=> deff(’ [x]=foo(y)’,’if y>0 then, x=1; else, x=-1; end’)
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--> foo(5)

ans =

--> foo(-3)
ans =
- 1.

000000 00DOD0O0O0DOD00000000 Ogetf(’filename’) 000 getf(’filename’,’c’)
000 ScilabO0OO0D0OO0O0D0DOOO0OO0OFile operation0 000000000000 O00O0DO0OO
00000000000 Ofilename 0000000000000 0O0OO0COOOOfilename O
O000oo0ooo0obooooon:

function [y1,...,yn]l=macname(xl,...,xk)

b0 0yiODODODODOOOxiOODOODOOOO
gbooooogboobboboo32bpoooboobad

28 0OOOOO

O00000000DOO000D0OScilab 0000000000000 ScilabOOOODODOOO
gobooobobboooobboboobobbobobboobbbdlisgoonooooooog
0000000000 0OsCIDIR/macros 0 OO0 O0ODODOOO0OOODOODOOODOODODODODODDOO
00000000000 0DO0DODO0ODO0O00O000O000O0 wrames”’000000ODOOOODOO
gobg .scil000000D0OO0O0OODOO0O0ODOODODDDODOO0O pin0000000O00O0O0
Makefile 0 DO0DO0ODOO0O0OO0O pin00000000O00O0O0O scilabd000000OO00OOO
O0000O0O00ODO0ODO0000ODObO0bOObObO0OODOO0ObOO0On0D SclabOOOOOOODOO

29 0OO0O0O0OOO

OO0 typeof D000 Scilab OO OOOODOOOODODOOOODODOOODOOODODODODOOO
goobooboboobbobobobbooooon

eusual 000D 0O0ODOODOODDOOOOODODOOO

e polynomial DO O OOD: D00 UO0OOODODODODDODODODDOOOOO
e boolean U OO O[O

e character U OO DONO

e uncompiled function O OO0 OOOOOOOOOO

e function OO O OOOOOOODO



020 0000

e rational IO 0D OI(0D00OOUOOOOOOODO (syslinO0O0O))
e state-space 1000000000 (syslin0O0O0)O

e sparse J OO0

e list 000000 DOOUOUDOOOD (syslinO0OD0D)O0O0O0OOOODO

e library U O UOODODO

39
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30 uobbood

ScilabOOOODOODOO0OODOOODOOOOODODODOOOOODOOOOOODODOOOODOOOO
0000000000000 D0O0OD0O0000 ScilafbOO0D0OOO0DOOODODODOODOOODOOODOO
goobobboboboboooobooobobobbobobooobboonbog:

e JUOODDDODODO

o JOODDOOO

o OO DOOODDDDOODOOO
e DD OD

gobooobooboooboooonobon

3.1 Uoooogbood

Scilab 0 OO0 OO0O0ODOOOOOOCOOOOO0OOOOOODDOOODODDOOOOOOOOODOOD
goobobobbooobooooooboobobbiooooooobboobobooooooboobon
gbogooboboooooobooooooboon

3.1.1 0dgon

Scilab 0O OO0O0OOODOOOOODOODOOOODO,OO0DOOOOODOOOODODODOODODOO
googo

== or= equal to
< smaller than
> greater than
<= smaller or equal to
>= greater or equal to
<> or "= not equal to

goooobbdoooooobobbobooobooog

3.1.2 OO0

Scilab 0D D2000000000000for00000OwhileJ0O00O0O0for 0000000
goooboboouoboobbdoibbD end00O0O0O0O0DODOOODODO
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--> x=1;for k=1:4,x=x*k,end

X =

24.

for00000O00O00O0DOO0ODOODOOODOOOOODOODODODODODODOODOODLDOODbDOO
god

--> x=1;for k=[-1 3 0],x=x+k,end

X =

3.

for 00O DODDODOOODDODODODOOOODODODDODOOODODODDODbOODODOODOY
while OO O OOOOODOODODOOOOODOODDOOOOODODODOOD

--> x=1; while x<14,x=2%*x,end

X =



30 0Doooood 42

16.

for J0D0 whileJOO D OOOOO break DOOODOOOOODOOO:

-->a=0;for i=1:5:100,a=a+1;if i > 10 then break,end; end

-->a

a =

3.1.3 00U

ScilabO0O 2000000000000000: if-then-else 0000 select-case IO OOONO
if-then-else 00O OO0OO0O OO (true)D00000then JOO else J0 (OO end O
0)ODODOODO0OD0ODOOO0O0ODO (false)D000elsed end 000000000000 Oelse O
0000000000000 0elseif0 000000000 O0O0OOOOOOOOOOODOOOO
oooooooooboooooo

--> if x>0 then,y=-x,else,y=x,end
y -

--> if x>0 then,y=-x,else,y=x,end
y -
- 1.

select-case U OO O0DODOO0OODOODODODOOOOODOOOODODOOOOODOODOOO
goooobooogd



30 0Doooood 43

--> select x,case 1,y=x+5,case -1,y=sqrt(x),end
y -
i

Uoboobboo0oobobobOobOn elsed OO0OOO0ODOOOOOOO

3.2 OOO0OOOon

ScilabOODOOOO0ODOO0OO0ODODOOOOODOOODOOODODOODOOOOOODOODOOOOODOO
gogooobobooobbooobooboobobobooooboobob oo oboboboon
0000000 ScilabOO0OODOODOOOOOODODOO

3.2.1 00000

gboooobobooobooobbooboobobboooo

function [y1,...,ynl=foo(xl,...,xm)

00 0Ofeo00DOODDDODxiDOODOO 0000000 O0yjOO00000 nODOODDOOO
00000003000000000000000000000000000D000OK ODODDOO
gooobooboooboo

function [x]=fact(k)
k=int (k) ;
if k<1 then,

00000 fact.sci0O00O0O0O0ODO0ODOOO0OOOODOODOOODODODOOOOOOOODOO Scilab
000 “00000”0b0O0ooogo
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--> exists(’fact?’)

ans =

--> getf(’../macros/fact.sci’)

--> exists(’fact?’)

ans =

--> x=fact(5)

X =
120.

-=> comp(fact)

00 Scilab DODOO0O0O0O0OO0OO0OO0DOOD exists OO(exist 0 00000O00ODOO) fact
00000000000 0000000Ogett 000000000000 OOODO Dexists
0000o00000oO0ooOooOoOoo((@oOooDly) DoO0Oos0DbO0o0oooooDObODODODOo
00000000 comp JO0O0OO0O0OODOOODOODOOOOfact 0000000 OODOOO
getf(’../macros/fact.sci’,’c’) 0 000000O0OCOCOCODOOODOODOOOOO0O

3.2.2 000000

gboboboooobbobboobobobobboobboobooboooooobbobooboobobbdg
gooooon

function [y1,...,ynl=foo(xl,...,xm)

U000OfecU0DO00D0O0Oxi0DOO0O0OD0OODUO0OO0yjOO0DOO0ODOODOOOOODODO300O0
O00D0O0O0O0ODOO0OD0OODOO00DOOO0O0O00O00ODO0O0OODbOODDOOO Scilab O
Oo0o0o0OoO000oOoOooOoOOoOo(@UbOooooooo)

O000OScilab OO O0OOOODOOCOODODODOOOOOODODOODOOOODOOSclabO00O00O
0000000000 0000DODO0O0OD000O00 getf(filename,’c’) JO0O0ODOOOOO
U00000ooogbOon filemame 000 foo DDDDDOODOOODN feo OOOOOU
getf(filename,’c’) (00U O°’c’ 000 0O0OD0)000000O0OO0ODOOODOOODDOOOO
gboobobooobbbooobboboboooobbooonoobobooobDonn deff 000U
“O000b0”000D00O00O000ODObO0O00O0ODOO0bODOObOOODOOOOOODODOObOOOOn
goobobooboobooon



30 0Doooood 45

0000000000000 000O00o0o0D0ooOoO(bOO0OO0O0DDOOOOODOO)DOO
ScilabO0OOOO (DOOO0OOOO..)000O0O0O00OODO sCIDIR/macros/00000OOOOO

3.23 0O00O0OOOOOoOOogo

000000000 0oU00o0o0oo0oO0 (ObooooLOU00oo0DoDoooooooD)boooo
goooboobbbo0obooobuobbboob0obb0o0o0bbO0b00resume JOODOOOU
goobobobooboooboooooobooouoooboobooobobboooboboboooo
00000000 (COoooOoO0o00000)bO0O0O0000DO0DOOO0O0D0ODODOOOODOOOO
gogoooooood

function [y1,y2]=f(x1,x2)
yl=x1+x2
y2=x1-x2

-->[y1,y2]=£(1,1)

y2 =
0.

y1 =
2.

-=>f(1,1)
ans =
2.

-=>£(1)
yl=x1+x2;

!--error 4
undefined variable : x2

at line 2 of function f
-->x2=1;

-->[y1,y2]=£(1)

y2 =
0.

y1 =
2.

-=>f(1)

ans =
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goooooboboboooboboboooboboooboooooooboboobobooobooobobooobo

goooooo

function [y]l=f(x1,x2)
if x1<0 then y=x1, else y=x2;end

-—>f(-1,x2)
!——error 4

undefined variable : x2
-->f(1)
undefined variable : x2
at line 2 of function f
f£(1)

-—>x2=3;f(1)

-=>f(1)

ans =

3.24 000OO0OO0OOOOO

called by :

Scilab 0 O0O0O0O0OO0OODOOOOOOODOOO0OOOOOOODODOOOOODOOOOOODOOODO

gobooboooooooood

e argn: U UOODOOOOOODODODDDOOODOO

e crror: JUOUDDDOUODDOODDOODOODDDOOOOOODLDLODDODOOODLOODDODD

goobooooobooooon

e warning,

e pause: JUODODOODDOOOODOOOU
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e break: D UOUODODDOOOODOO

e return U0 resume: U0 D0 000000000 D0ODOO0ODOOODOODOOODOODODOOO
goboboobogboooboboobobonoobood

00000000000 0O00000D0O fooOOUODODODDO ScilabOOOOODODO

-->getf(’../macros/foo.sci’)

-->foo

foo =

[z]=foo(x,y)

--> z=foo0(0,1)
error(’division by zero’);
!--error 10000
division by zero
at line 4 of function foo called by :
z=fo00(0,1)

--> z=foo(2,1)

-1-> resume

b4 =
0.7071068

-=> s

S =

0.5

U0000Ofee.scilOOOOOOOOO0OOODOODOODODOODOOO fooUDODODODODOODO
goooboboboobboboboobbobooooobobooooboobbbooooobbon
gb0200000000000slepel00000O00O0OOOOODOOOODOODODOODOOODOOO
O00000DO0OD0ODO0O00ODCOCOO0000000C0ODO0OODODODOOUOOOOSclabOO0O
gobooooooooobbotd-1->0000000pause D000 O0OO0OO0OODOOOO
godgooboooooooooboooboobbobooooboooouobbbooboobl return
goboooooooboboobouobobobb quit 000 abert U0 OO0O0OO0OOODOO
gooboobbooodzOoDooooooooobooooooboboboboobbob sOobbooo
gogobobooboobooooogoboobobbbboooboobobogon
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33 UUbobobobouooonobouuon

Scilab OOOOOOOOOOOODOODOOODOOOOOODOOOODOOOODOOOODO
0000000000000 OScilab0O00D0ODODOO 200000000000 0000000O
000000000 00O00oo0oOo0O0(DoooOoO0bO0oO)OooDooOoLoOooOooLoooo
0000000000000 0000oOoObODO0OOOOODOODOOdScilabO0ODOODODOODOO
000o00o0o0oooO(0ooo000o0U00L)00000U0O0o0oooOoOoOoobooOooO
gooooboood

O0D0O00OD0O0O0O0O0D0O0DOO0O0ODO0O00DODO0O00OD SclabOOODODOODOODODOO
00000000 0O00o0O0o00O00OO0OOUOOOO040 (DDOODO 30)000OODDOOOO
gooOooODoOoOOoODObO0O0OO00bDO Y00030000b0b00bOObOUObObOOoUobObOod
gbood20b00b0bbobbobooboobooboooog

| 300000000 |

| SYMBOL | OPERATION |
a +
b ; (row separator)
c [ 1 (matrix definition)
d v
e () extraction: m=a(k)
i () insertion: a(k)=m
k Sk
1 \ left division
m *
P ~ exponent
q A
r / right division
s -
t > (transpose)
u *.
v /.
W \.
X . ¥
y .
z AL

200040000000000000 2000000000000 0O0OOODOODODOOOOO
gooboobbooooobuoooboobooboboogy
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| 20400000000 |
| SYMBOL | VARIABLE TYPE |

S scalar

P polynomial

1 list (untyped)

c character string

m function
XXX list (typed)

0000 (typed) D00 OO0OO0O0O0OOOO0OOOOOODODOOOODOOOOOOOO 3000
0000000 xxO0000000000O0

ddoooodpDOooDoO0oddOdOolist(’lss’,a,b,c,d,x0,’c’) 00000000000 xxx O
1ss OO0

20000000000 (COO0UDO0OO0)DOODODOOO%ssmlss JO00OO0DO0OODOOOODODO
%00002000000000 1ss(000)03000000000 m“00 (multiply)’0400
0000000 lssO0000O0D0DOO0DOO0O00OO0O0OO0OO0OO0O0OOO0O0OO0O0O0OO0O

function [s]=%lssmlss(s1,s2)

[A1,B1,C1,D1,x1,dom1]=s1(2:7),

[A2,B2,C2,D2,x2]=52(2:6),

B1C2=B1%C2,

s=list(’1ss’,[A1,B1C2;0%B1C2’ ,A2],...
[B1%D2;B2], [C1,D1*C2] ,D1*D2, [x1;x2] ,dom1),

(000 Dgett 0D O0O0DOODOOODOOODOOOD)Scilab0000000O0O0OOOOOOO
O0DO0O0000O0000 ScilabOODODOOOODODODODOO

-—>A1=[1 2;3 4];B1=[1;1];C1=[0 1;1 0];
-—>A2=[1 -1;0 1];B2=[1 0;2 1];Cc2=[1 1];D2=[1,1];
-->s1=syslin(’c’,A1,B1,C1);

-->82=gyslin(’c’,A2,B2,C2,D2);

-->ssprint(sl)
1 2| I 1]
x=13 4 x+]|1]u
| 0 1]
y=11 0lx

-->ssprint(s2)
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| 1 -1 | | 1 0 |
x=10 1lx+ ]2 1 |u
y=11 1tlx+[|1 1 |u

-->512=51*52; //This is equivalent to s12=%lssmlss(sl,s2)

-->ssprint(s12)

O O W

O O b N

N = = =

, O =
=]

|l o 1 0 0
y=11 0 0 0 Ix

Mssmss 00000000 DOCODODO 200000 s10s2000000000000 x0000
goooooboobbbooogo

000000 sCIDIR/macros/percent U (000 OOO..) D0OOO0OO0OODOODOOOOO
O0D0O000000O0O00D0O0O00O0DO00DO000000O00DO0OD0O0OD Y%1ssmlss 0000
0000000000 (COoOoo0o0o0o0o00o0oO0O00bO00ooOto0oooooon)

34 0O0OOOO

ScilabOOODOODOOODOOOODODODODCDOOODOO pauseJ000000O0DODOOOCOOO
oooooooooo0oooooooOoooD ““00”00000000 -1->00000000
00000 pause00-2->000000..000 100000ScilabO000000COCOODOO
0o0o0oooooooooooooOo0ooOoooOoooOoOooDOoOobOO0ooODOOOOBDUODD
OO00O0O0O0O0oooDOO0Ob0O0O0sclab000D0OO0OO00O0O0O0ODOOODOOOOODOODOODOODBO
0000000000 return 000 resume J 000000000 (0OCOCOOO0DOOOOOOO
O0000000000)0000000apert 00O OOODOOO

0000000000000 0O0O00O000000D00000 setbptOdelbptddisbpt 00 OO
000000oo0o00ooo00oooo0oooo00ooooUoo0oooOoOooooooooBo
errclear 0 errcatch 00000000 0OScilabO00D0O0O0CO0OO00D0OO0DOCDODOD debug(i)
(000 0i=0,..4)00000000O0ODOOOO
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40 0OO0OO0O0OUOOOO

0000000000 Scilab OODO0ODO0OOOODOODOOOOOOODODODOODOOODODO
00 (00000 O SCIDIR/man/LaTex-doc J OO0 O OOOOO)00O0OOOOO

4.1 0OO0O0O0O0OO

0000 Scilab O00O0OO0O0D0ODOODODODOODOODODO: ScilabOODODOOOO
000000000000 00D0O000DO00D0OSclabO00D0OCODODOO ScilabOODOOOO
gooooobooood

4.1.1 OO

ScilabO0 OODODODOODODOOOOODOODOOOOOOO whoODODODODOOODOODOOO
U0D000Owhe OOOOODODODODOOODODOO0OOODOOODODODDOONO Uhelp <function-name>
goboboboooboooboobobbooboobobbobbbooooobooooooooboboog

U000Osave JUOODODDODDOOODOODOODODODOODODODODOOODOODODODOOOO
00000 lecad 00000 ScilabO0OO0OOCOOOOOOODOO

U000 clear x yUODOODOODODODO x0O yOOOOOOOOOOOODOOOOODO
O0D0OD0O0000000D000DDO0O0ODO00OD0O saveD Scilab OO00OOOO0OODOOOO
0000000 clearJ00ogooboboobboooobbOonoobobboooooooo
gbooooboboood

U0oboupobobbb0ddisp 000000000 DO0ODO0ODOO0O00OOgett DO OO ODOODO
gbooboooogoogd

gbobooboooblisgobonooooobood

gbooobooboboobobobbbbbdisp0g0oooooooooog

4.1.2 0J0O0O0OO0OOOO0OODODOOOO0OOO0

Scilab 00D OO0O0OO0ODODOOOODOOODDDOOODD .scilab0O000O0DOODODOO
gobooouobobooboooobobbobbooboboobbooobobobbboboboon
ScilabOODOOOO (DOODOODOOOO)DOODOOOOODDOOODOOOODOOOOOOODOO
goboogb .scilabDUO0 00000000 DOODDOODOODODODOODOOODOODODOOOO0OO0OO0
O00000O00DOO0ODOSclabDO0ODODOOO0O0OOOOODODOOODOOOOODOODOODODO
U .scilab0 0000000000 getf 0D UODOOOOODOOOO
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4.1.3 00O

0000 save load D000 OD00OODOOO read d write OO OO OOOOOO Scilab O
00 0000000000000 0L00000U0b0U2000000 O dFortran O readd write O
00000000000 000000000 Do oOoUoooLon

-=> x=[1 2 Ypi;%e 3 4]

X =

! 1. 2. 3.1415927 !
! 2.7182818 3. 4. !

--> write(’x.dat’,x)
--> clear x

--> xnew=read(’x.dat’,2,3)

new =

! 1. 2. 3.1415927 !
! 2.7182818 3. 4. !

reaedJ0 000 xO0000000O0DO0O0ODODOO0OOODOODOOOOOODOODODOOOODDOO
gooobobooood

4.2 Help

help O OODDOODODOOOOORelp item O D00 DOODOODOO0O0ODOOOOOOOODOODO
O00(@O0O0000D0item0 0000000000000 O)00000OO0OUnixxman 0000 0O
O00D00O00OOapropos itemU Uwhatis DO OO0 U0O0O0 item D00 O0O000OOODO OUnix
O whatis 00000000000 0OCOOCDOODOOOODODOODODOOOO: SCIDIR/man O
0000000000 O0O0O0DObODOSclab WIpX O0000ODODOOODOOOOOOCOODOO
0 Makefile OO ODOOODOOOOOOODOOOOOOODOO SCIDIR/man/Latex-doc 0000
O0o0b0db0od0 menedit 00000 OO0 O0OD0OOO0OOODDODODOODLOODODODOODO
0000000000000 emacs 0D 0O0O)

4.3 U0OO0OOO

Scilab 0 OOOOODOOODOOODOOOOOODOODOODODOOODODODO
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4.3.1 0000 (external)

“external” 0 O (odefoptim... 000 00) 0000000000 OOODOOOOODOODOODO
00000 Fortran 0000 0O0O0O0OOO (DOODOOODO)000O00DOOOODOOOOOO
000000 DOO0000DO0000000000000O0O00DO0ODO0OD00O costfunc 0 Doptim
O0000DO0ODODODCODOOODOODOODODO0OC0O0ODODDOO: optim DODOOOODOODDOD
O [f,g,ind]=costfunc(x,ind)000 Scilab O0O0O0D0O0000DOO0OOOOODODOO: oded
optimUimpldasslUintgUfsolveJU U O OD OUOOOUOODODOOOOOO Fortran DO O DOOOO
00000 CODO0O0ODO0ODO0O00OOCODODOOOODO000O0DOO0O00D0O0000O0O0 sCIDIR/routines/default
0000000000000 DODOO0ODODOO0O0ODODO0ODOSclabDOD0O0O0OOOODOO
000000000000 0“000” 0000000000 (mk000O00OO0ODODO)DOOO
00o00od0o000oU0OoOoOo00Oo0bUoOoOoDbOOobDOOobDOo0ODODbOOoOODbDOOobObOODOobDOO
(000 OSCIDIR/routines/default 000 fydot.f 0000000000000 Omake D OO0O
ScilabOOOOOOODOOO)

4.3.2 0O0O0OOOO

Scilab 0 0ODOO000OOOOO0OODOOOOOODOOOOOOOOOOODOOODOODODOOO
goboboboooooobooooobobooooboboooobboboboboobbooboooog
gob:00000oobobboobbbobobbouoboboooobbbdbbioib0odiOd odel
gooooboood

U0000ede 00 O0OO0O0DOODODOOODOOODDODOD20000000000000000O
ooooe, 06,0000 200000000000000O00DOOODODODOODDOOOODDAO
roUmOm, 0000000000000 0000000000

gobooboboobooobooobobooon:

mry MyT9 cosf ] [ él ] _ [ —mgrgég sin 6 ] B [ msin 64 ]g

. 4.1
0, ry 0% sin 6 sin 6y (41)

ricos 6y ry

0000¢g0000000m=my+my00=40,+6, 0000000 Scilab0000000000
0000 1.5000000000000000000¢=9.8n/s0r; =ry=1mOml=m2=1lkg
D00000000006, =x/2060, =7/206, =006, =00 00

--> mi=1;m2=1;r1=1;r2=1;
-=> g=9.8;

-=> t0=0;

-=> t=0:.1:1.5;

--> z0=[}pi/2;%pi/2;0;0];

--> getf(’../macros/dpend.sci’,’c’);
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--> z=0de(z0,t0,t,dpend) ;

-=> pp(2)

ooooooob0ooogb 41 000000000eded 000 4000000 D0OODODO
ooooUo: boobobbob zoOODUOO to0DUOD0 zOOODOUODODODODDOOOUODOD ¢ O
Scilab OO0OO0OO0ODOOCODOO0OO +t000D00O0D00O0=zOOOOOOO zd00000O0ODO
U dpendU

110

170 -

B0 4+
210 070 070 210

0 4.1:2000000000000

dpend 0000000000 200000000000000000000(4.1)

function [zdot]=dpend(time,z)
thi1=z(1) ;th2=z(2) ;th1d=z(3) ;th2d=z(4);
s12=sin(th1-th2) ;c12=cos(th1-th2);
mi2=mi+m2;s1=sin(thl) ;s2=sin(th2);
mat=[mi12*rl1 m2*r2*ci2;...
rixci12 r2];
vec=-[m12*g*s1+m2*r2+th2d*th2d*s12; ...
gxs2-rixthid*thld*s12];
res=mat\vec;
thidd=res (1) ;th2dd=res(2);
zdot=[thild;th2d;thidd;th2dd];

function []=pp(z)
thi=z(1,:);th2==2(2, :);
rcl=rixcos(thl) ;rc2=r2*cos(th2);
rsl=ri*sin(thl) ;rs2=r2*sin(th2);

rsil2=rsi+rs2;rcil2=rcl+rc2;
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rect=[-2.1,-3.1,2.1,1.1];
for k=1:maxi(size(thl));
plot2d ([0 rs1(k) rs12(k)]’,-[0 rci(k) rc12(k)]’,...
[-1],"011",’ ’,rect,[10,3,10,3]);

end,

00000000 Scilab “external” 00 (00000 Odpend) 0 000000000 O0OOOO
gobobobooogoboooobooooobooooboooboog

function [xdot]=f(time,x)

goooooob200b00000000000000000000000 +ime 00000000
00000200000 x000O0D0O0O0O0O00O0O0O0000 (D000 0)000000 xdotOO
gobboobodobooxbooooobobboobo20b0b0o0ooobbobooooooboog
O000O00OD00O0OScilabO00O0O0OO0ODOO0O0O0OO optim00000OD0OCOODOODOODOOOO
UoooboouopooooobobDbOod0bleptim0000000000000000O0DO0DOD optim
goboobooooobobbobbouooobobboooobooboobonooobooboobonon
gogbooobobbobobobbooobbobbooboobobboooboobboooooDd
gooboobobobooboboobobooooboobobobobobobbbboboooobooog
goooobobbobboboobboooboooobboooooboboooooooDoobobon
goboboboooooobooobboon

goobboobboobooobboooboooobboooooooooooobobbobon
gbobooobooobobooboooobooobobbobobboooooobboo

gbooboobooobobobooooooooooooobooboboooobooboobooobg
(z,y) 0ODOODOOODOOOOODOOOODOOOOd(x)DO0DDOOOOODOOODODODOOOOO
gogoboboooooouboobobobod

I I/ G e TR ) 43

gboddpb0OO0OO0O000DDODOO0ODLOO0O0OD =2000000v0 v, 000000000
goboboooobbbooobobbboobobbpbbOobOn0 0000 booboobon
goboobbooboooobobooooobobg

O0ooooO0dr(p)/dt=0000000000000TO00ODOOdOOO0OOOODOO0OO
gboobooooood

di v VP22 v/ (@ —p)? + (y — d)?
00004, 0040 pO0O00000OO0OO0OO ScilabOO0O 0(4.2)0 43)000000000
ooo

(4.3)

function [t,t_p,ind]l=swim(p,ind)
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[d,d_pl=dpfun(p);

as=sqrt(d~2+p~2);

aw=sqrt ((x-p) "2+(y-d)"2);

t=as/vs+aw/vw;
t_p=(p+d*d_p)/(vs*as)+((p-x)+(d-y)*d_p)/ (vwu*aw) ;

function [d,d_pl=dpfun(p);
d=1.75-exp(log(1.55)*p);
d_p=-log(1.55)*exp(log(1.55)*p);

000000 d0O 4, 0000 dpfun 0000000000000 200000000 SCILAB
gooooboobioog p000000D00ODOD eptimO000000O0O0ODOO

-=> x=1;y=1;vs=5;vw=1;
--> getf(’../macros/swim.sci’);

--> getf(’../macros/plotopt.sci’);

--> [ts,ps,tps]l=optim(swim,0)

end of optimization
tps =

4.580D-16
ps =

0.6144065

ts =
0.8303513

-=> popt(ps);

U00boooobOeptimU 2000000003 00000000O0000ODOO0ODO0OOODODODOO
00 (000)0000 p0000000000O0O0O ScilabOOO0OOOO0OOO20000000p0O
goooboboopoboooobobobobdboooobdbO ts 00000 pO0dd psdnbd
gooooboooooboobobDonD tps00n0oogg

gobooooobbobob 42000000000000000000O00O0DODODOOOODOO0O
gooooboood
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10

wt+-———+—7—+—+—+7———+—— 17—
00 02 04 06 08 10

042 000000000000

4.4 Fortran U0 CUOOOOOOONO

ScilabOODODOO Fortran OO0 COODODOOOOODODOODOOODODOOOOOOODO
0000000 000000000 1ink 0000000000000 fert JO00OOD0OOODOOO
OO0O00OScilab DODODOOOODOOODOOODO

00 FortranOOO OO interf 00DD0O0O0O00OOODOFortran ODOOODOOO Scilab OO
0000000000 DO0000DO00OD0O SCIDIR/default DO OO ODODO interf.£f 0000
0000000000000 O0000Dod0o0d0o0onooooooooooooDooooooo
D000 MapleOOOOODOODDODOOO0OOOOOODOOODODODOODOOODOODOOO

Fortran O ScilabO0 0000000000000 O0DOO0OO0O0DOOOODOOOODO2000A0
0o00O000oooo20000000000000

fortran 000000 Scilab OODDOOO0OO0OO0DO0OO0ODDOODOODOOOOOOOOOOODOOO
gooo0oooOoOOO0OO0O0O00OUO0O0O0ODOOOOORO0OOOOOODOD f,(DOOOO
0,1,1,2,3,5,8,...00000000f, = fa—1+ fae) OODO0O Fortran DO O OO0 £ibb OO
ooooo

subroutine fibb(fn,n)

n0=0

ni=1

if(n.ge.3)then

do 10 k=1,n-2
fn=n0+ni
n0=n1i
ni=fn

10 continue
else

fn=n-1
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endif

end

fivb 000000000 OCODO0O0ODOD fivb.oO0DOOOOOOOOOODODOOOODOODO Scilab
O000000OScilabO0ODOOODOODOOOOOOODOODODO

-—>unix("make fibb.o");
-->1ink(’fibb.o’,’fibb?)

-->1ink()

ans =
fibb

-->n=6

-—>fn=fort(’fibb’,n,2,’i’,’out’,[1,1],1,’r?)

fn =

5.

000 1ink 0000 20000000000000000000000000G0000O00O0O00O0O2
000000000000000000000 <_1ink000000000000O0000B00O0
00000000000000000000000000 £fivb 000000000 fort 0000
000000000000040000000000000000000 fivk’ 000000000
000000000000 ’eut’ 00000000 20000000000000°fibb’ 0 ’out’
0000000000000000000 fivo 000000000000 O00000O0O00 ?out’
0000000000000 0000000O0fivo0000000000C000C0O

00000000000000D0 (rea) D00 (integer) D00 D00 (double) 00D OO0OO0OOO
000 ’'r0i’0°d> 0000000fibb 0 20000000n 0000000 200004fn1
000000000000 000000000000000 [1,110000 fn0 1x10000
000000000000

ScilabO0 0000000000 DDOODO Scilab0000000D000D0O0O0DDDOO@OODOO
0 SCIDIR/routines/system2 U000 000 matz.£00000000O0O)

4.5 XWindow 0 OO OO

Oo0o0o0o0oooOooOoDOOb00O0b0O0Ob0000000000D00 XWindow ODOO0ODODO
goobobooogooobboobobobb0ob0uobibDbDD x_dialoglx_chooselx_mdialogl]
x_matrix Ox_message U DO DDO00000O0demo D OO OOOO0O0ODOODOODOOODOOODOO
oobooooooobooboboooboboooooooboboooo
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FF

UP

U Model Reg + Proc Y

Sensor

043: 00000000

4.6 Maple 0O DDOOOO

MapleO 00 000 maple2scilab0 0000 Maple DO ScilabD OO0 O0O0O0OO0OODODODOO
00000000000 00DoooDoo0o0nooDooo00g Maple0OOOO OO Omaple2scilab
O Maple 0000000 OFortran D 000000000 Maple DOOODOOD0ODOOO (Maple O
Macrofort 0 000D O0O0O0O0) 000000000 OODO (DOO0)ODUODDOODOOOOOO
00 ScilabOO0OD0O0000D0ODOOODODODOOOMaple 00000 0O0OMapledOO OScilab
000000000000 000Fertran OO0 OO0 OMaple DODO0D 00000 OO0OOOOOOO
000 o0oooood

4.7 00O0OOOODODOO

OO00O0O0O0O0OOSclab DODDOOODOODDODOOOOOODOODOODOOOOOOO
ScilabOOOO0OODOOO0OODOOODODOOOODOOOOOOODOOOODOOODODOOOOO
0000000000000 000000000000000000000 Obloc2exp 00 OOO
0000000000000 00000D000D0Devstr 00000 O0o0gO

0o0bO00DbOO0 4300000000 DOOOODOOOOODOODOODOOOODOOODOOOO
0430 0000000000000 0O0OO0ODOO0O0O0O0O0O00ODOProcd00ODODOOOOODOO
SensorU000O0 Reg D0 DUO0DOU0ODDOOODOOOOOOODDODODODO

Reg 00000 0OProc0 00000000 DO0OOODOODDODOOOOOMedelDDODOO
000000 Sensor 0000000000000 0O0O0O0O0OO UODO Proc0O0DOODOOOO
000O000oDOoooDOoO0oooODOOOOO0ODOOOOUOOO0OYD vPOOOO 43000000
O 0OScilabO0O0O0ODO bloc2exp OO DODOO0OOOObloc2exp 00 ODODODODODO Scilab OO
O00000000000020000000000000000000 O “ransfer” O “links” O
O00000DOO0O00O0oODOsODO0DODO0O0 7yOO0D0OOOODOOOODODOOODODDO
gooo0opDOo0oooOoOooOOo0ooDOO0O0ODOOOO“0000D0OD”00000ODODODOO
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0000000 vlec2exp U0 DO OOODOOOODOOOOO0ODLDOOOODOO
OOOevstr 0 O00OODODO “0”’000000Scilab 00000000000 OODOOOOOOO
goooboooooboboobooobooboon

-->model=2;reg=3;proc=4;sensor=5;ff=6;somm=7;
-—>tm=1list(’transfer’,’model’);
-->tr=list(’transfer’,[’reg(:,1)’,’reg(:,2)°1);
-->tp=list(’transfer’,’proc’);
-—>ts=1ist(’transfer’,’sensor’);
-->tf=1ist(’transfer’,’ff’);

-->tsum=1list (’transfer’,[’1°,’1°]);
-->lum=1ist(’1link’,’input’, [-1], [model,1], [ff,11);
-->Imr=1ist(’link’,’model output’,[model,1],[reg,1]1);
-->1rs=1ist(’link’,’regulator output’, [reg,1], [somm,1]);
-=>1fs=1ist(’link’,’feed-forward output’,[ff,1], [somm,1]);
-->1sp=1ist(’link’,’proc input’,[somm,1], [proc,1],[-2]1);
-=>1py=list(’link’,’proc output’, [proc,1], [sensor,1],[-11);
-->1lsup=list(’link’,’sensor output’, [sensor,1],[reg,2]);

-->syst=...
list(’blocd’,tm,tr,tp,ts,tf,tsum,lum,lmr,lrs,1fs,1sp,lpy,lsup);

-->[sysf ,names]=bloc2exp(syst)
names =
names>1

input



040 0OO0OO0ODOOOODOO 61

names>2

!proc output !
! !
!proc input !

sysf =

Iproc*((eye-reg(:,2)*sensor*proc)\(-(-ff-reg(:,1)*model))) !
! !

! (eye-reg(:,2)*sensor*proc)\(-(-ff-reg(:,1)*model)) !

bloc2exp 0000000000000 OOODOOOOONONOOOODOOOOOO systO (O
00)000000000000000000000000 *bleocd’ 000000 syst 00000
0000000 43000000000000000000000000000000000000
000 *transfer’ 100 00000000000000000000O0O0000000O000O0O0
000D00000000000000000 Reg00000ODOOONDNONO00O00OOO0OO0N
000000000000 00000000000000000000000 *link’ 00000
000200000000000000000000300000000000000000000
000000000000000000000000000000000000000000000
0000000(000 Omedel 00000000 2000000000000)00000 200
00000000000000000000(00000000000000)0000000000
000000000000000000000000000(000 0’input’ 000000000
ooooo)

bloc2exp 1000 0000000000000 D0000O0 sysf00000000000000
00000000000000000Osysf 0000000000000000000000 evstr
00000000000000000000000 Scdlab 000000000000

-->s=poly(0,’s’);
-->ff=1;sensor=1;model=1;
-->proc=s/ (8" 2+3*s5+2) ;
-->reg=[1/s 1/s];

-->sys=evstr(sysf)

sys =
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! 2 3!

! 2+ 5s +4s + s !

goobobooboboobobobdoouooob 2000000000000 0evstr 000U
00000 sysO0O0 Oblec2exp U OO DOOOOOO0OO0OD0ODODOOODOODODOOO
gobbooDooooobobobo0b0ooboobooboboob0o0bOob OOl bloc2ss
goobooboooboobooobooobbbobbbOsyslingoooooonoonoo
(000OD0)D000000O00DO000OOObPlec2ss JOODOOOODODOOOOODODOODODO
O000DO0O0O0DDDODDODO bloec2ssDDODODOODOODODOOOOODOODODODODODODODOO
gboooboboooboooboboooboooboboboobbooobobbooonoon

4.8 Scilab 000 Fortran D00 O OOOO

ScilabO0 000000 Scilab 00O Fortran 00O OD0O0O0OO0O0OODOO0ODODOO (DOO)OOO
OooogobobobioodbUFrertran 00O ODO00OO0O0OODODOODOOOOODOODODODOO
goooboooo

00000 ScilabOODOOOODODDOOO:

function [x]=macr(a,b,n)
z=n+m+n,

c(1,1)==,
c(2,1)=z+1,
c(1,2)=2,
c(2,2)=0,

if n=1 then,
Xx=a+b+a,

else,

x=a+b-a’+b,

end,
y=a(3,z+1)-x(z,5),
X=2*%x*x*%2.21,
sel=1:5,

t=ax*b,

for k=1:n,
zl=z*xa(k+1,k)+3,
end,
t(sel,5)=a(2:4,7),
x=[a b;-b’ a’]
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OObO0o00D00O00 mac2for U000 FortranU OO OODODOODOOOOOOOODOOOODO
gooboboooboobbobuouoboboooobbobbooboooboosoooooobobg
goooooooooOoooboOoooooboooOOo0 (mym), (mym), (1,1) 00000000
gbbooboooboooobooooooogn:

1=1ist();

1(1)=1ist(’1’,’m’,’m’);
1(2)=1ist(’1’,’m’,’m’);
1(3)=1ist(’0°,%1°,°1°);

The call to mac2for is made as follows:

comp (macr) ;

mac2for(macr2lst(macr),l)
000000000000 D00000000 FortranOOOOOOODOOOOOOOO

subroutine macr(a,b,n,x,m,work, iwork)
c!

¢ automatic translation

double precision a(m,m),b(m,m),x(m+m,m+m),y,z1,24(m,m) ,work (*)

integer n,m,z,c(2,2),sel(5) ,k,iwork(*)

call dmcopy(b,m,x(1,m+1) ,m+m,m,m)
call dmcopy(work(iwl) ,m,x(m+1,1) ,m+m,m,m)
call dmcopy(work(iwl) ,m,x(m+1,m+1) ,m+m,m,m)

return

end

O000000D0ScilabODO0O0OD0OO00ODOOOODOODOOODOOOOO
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sl UOotbogn

O0D0OO0OScilabOODOOOODOOOOOODODOO

5.1 UOO0O0bgooooono

DeleteJ U0 O0O0O0OO0ODUOODODDDOODOOODOOOODDOO DD wmDOOOOODDODO
gobooobDbO0oDD0000b000000D0o00O0nD UscilabGraphict JOOO OO Raise
(Create) Window O OO DOODOOOOOODOOOO wmOODOOODODOOOOODOODODOOOO
O000OD00OO00OD set (Create) Window O OOODOOD O wnOOODODOODOOOOOODOOO
U00b0obob0obb0o0bb00o00unDiooboOodbdDbeleted 0D OOOOO0DO wnl
goooboobgbooobobbobbooboboboobbbooboobboboboooooooboobd
gooboooboo

gobooobbbbobboob 400000000000

¢ 3D Rot.: 3D U UUOD00O0ODLDODLODLDOODOODDODODOUODDbDOD2DODOODOO
gooooo

e 2D Zoom: 2D U0 U000 UDDODUO0O0ODLDOLODOOODOOOUDLOOOOOOODOODO
oobospboooooboooboogon

e UnZoomx: 0000000000 OOO(DOOOOOOOOODODOOODOOOOOOOOOO
OoooO0o0ooOoooooooon)

e File: D UOUDODO0ODLOOODLOODOOODOO
gbobobbDOOd: Cleardgdno0ooboobb0obOooOoobooog
gboogbd print... JO0OO0DODODODOODODOOOOODOOOODOODOODOOODOO

Export 0000 0000000000 OODO (Postscript,Latex)y D0 00000000000
Ooo0oooOooOoOo0o0ooOOOoOO0Ob0O00OO0O00o

save J OO0 000000000000 0O0OOOODOOOODOODODDOOOOODLDDOODOD
0000 ScilabO0OOOO0OO0OOO00OOOOOODOODOODOO

Delete U O (close) 00D OOODOODOODOOODOIODOOODOOOODDOOOOODOOO

5.2 OO0

Scilab OO OODODODOOOOOOOODODODOOOOOOOODOOOODOOODOOODODOOD
Uoo0oobbOobbOboDbO00dOdscilabGraphico 0 000 OOOO
0000 ScilabO0O0O00O00O0OOOOO0DOODODOODODOODOO



gs0d 0opooooo 65

o driver: U0 U DOODODUOOOOODODOOO

e xinit: 0D OO0 ODOODDODOODODLDODOOO

e xclear: U0 UIDO0ODODODOOOUOODODOODDOOO

e xpause: JUOUOUOUOODODODOOOOOOO

e xselect: U UOUOUOOUODDOOOOODODODLDDOODDDOO
e xclick: 0D UODDODOODOODOO

e xend: U DODDOODOODOOODDOO
goooboobobooobobg

e X11: X111 ODOODODDODOOOODLDOOOODO

e Rec: 000D 0O0O0ODODDOOIODDOOUODD XOUOODOODDOOUO (X11)ODOOoooooo
gooooo

e Wdp: DI DODDUODDOOOUOD X11ODODODODDUODUOOUOOOpixmap OOODO OO
000 xset('wshow") 0D 0ODO0OD0O0DODODDODDOOOO0O0OOOpixmap O0OO0DOOO
xset("wwpc") 000 D000ODDODOO0O xpascOODOODODODOOO

e Pos: Postscript D DO OODO OO OODOODOODOO

e Fig: XfigDODOOOUODODODOODOOOODOOOOO

gbooboboooonooboobbbiooobbobbOo0OXigdoboooboboobouo
Jobooobonobo0obOoboooooboD xeasimpUxs2fig 0000000000000
goooooboood

-->driver(’Pos’)
-=->xinit(’foo.ps’)
-=>plot(1:10)
-->xend ()
-->driver(’Rec’)
-->plot(1:10)

-->xbasimp(0,’fool.ps’)
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200000000000000000O0foo.ps’ 0 ’fool.ps.0’ 0000000 (DOOODO O
O0o0oo0oo0oO0o0o0ooooooooooooooO)

00000000000 00000000000000000000 0 window-number DO 0O 0OO0O
0000 SclabOD0OO0O00000000000O0O00DDOODOOO0O000O0O0ODODO xbasc(window-number)
0000000000000 O (xbascd xclear 0000000000 OOOOOODODO)

0000000000 DO00DDOO0OO0O000000d xbasr(window-number) [0 Scilab OO OO0
00000000000 0000000000000 0 window-number D000 0000 OO0 O
000000 00oooDO00000 000000000000 0oooooooooooooooooog
0000000000000 0o00Oooooood

0000000000 xsetxselect 0000000000000 OO0O0OO0DODOOODODOO
000000 DISPLAY O OX11DOOOOOOOOODOODDODOOOODODoODOOoOoOoooood
000 0000000000000 0000000 xinit OOODODOODODODOOOODOO

5.3 2D 0000

53.1 0000 2Db0O0O0O0O0O

00000 2D00000 Oplot(x,y) 000 plot(y) 000000 DOxO000 yOOOOOO
000000x0yO00O0OO0O0O00OO0O000x00000000000000 (1,...,size(y)) O
0000000yO0O0O0000000000000000000000000000000

00000000000000000000000000 51000000

-->//first example of plotting
--> t=(0:0.05:1)°;
-=> ct=cos(2*pi*t);

--> plot2d(t,ct)

do0odoDoO200000000000000O000O0000
plot2di(str,x,y, [style,strf,leg,rect,nax])
o0 Oi=missing,1,2,3,4
0000 i00D00d0booooooooooood
i=missing : JOOOOD0OOO
i=1: 000000 000D00OD0 OO0
i=2: 0000000004
i=3: 0000
i=4: 000000 (OO0 0ODOO0OOOU00ODOOOOOOO)
-00000 str: OO0 "abe":
idd0000str 00000
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10

08 ;
0.6 ;
04 ;
0.2 -
0.0
02 4
04 -
.06 -

-08 -

W77 77—

051000000000

a=e: [0 (empty) 000 O00O0Ox 0000000000 DO@OOUOOOOxOO0ODOOODOODOO
oooooooo)

a=o: 1 (one) 0000 0OO0OxOUO0OOOOOOODOOOOODOOO

a=g: 00 (genera) 00 OO OOO

b=1: 00000000 XOOOOOOO

c=l: 00000000 YOOOOOOO

00000 x,y: 00000 [ml,ncl] 020000 (ne000000On1O00000ODOOO)
-00000 style: 000 (1,ne) 0000000000 jOO0D0O0OO0O0OODOOOD Osize(j)
0000000000 (00000O000O00O0OD00OD styleJ OOOOODOOOOOOOODOO
O00o0oo0o0oooooOooooon)

00000 strf: 00O0O0ODODOODODOODO 3"xyz"ODODODODO:

x=1: 000000000

y=1:00000000000000000 rect00000O0O
rect=[xmin,ymin,xmax,ymax]

y=2: 0000000000000

y=0: 000000

z=1: 0000000000000 nexOO0OOODDOODODOOOOOO

z=2: 0000000000000 000000

-00000 leg : O0ODOOOOODOOODOODOODOUOOOUODOOODODODODOOODOODOO
O0 eJJ00O00O0OOODOOOOODOOOOODODO OO0 O ¢“module@phase’’ (DOODOODO
oooO0o0o0oO0)000o0oU0O00oOoOoU0OO00OO0O00D0LOO0OO0ODOO0OODODOOOO
oooodd

- 00000 rect :00000000D0DO0O0O0 400000000000 Orect=[xmin,ymin,xmax,ymax]
pot 00 000000000000 00O0DO0000O0O0O0O000O0O(DOO Oplot2d3())
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5.3.2 000 2000000
e champ: R20D00DOO0ODOOO

fchamp: 000000000000 RPOODOOODODODOODO

fplot2d : U DODOODOOO0OO0DLODOOODOO 2000000

fgrayplot : 2000000000 D0ODOOOO

e crrbar : U DUODOOOOOOOODODOO

5.3.3 DU0OU00O0O0O0OO0O0O0oOoooga
e xgrid: 20000000000 0OO0OOOOODOOO
e xtitle: 200000 00D0O00OODODOODOOOOOODOOO
e titlepage: U DU DOOODDOOOODOO

e plotframe : U OO UO0DOODOO0OOOODOODOOODODO

gooooooboooooboboobobbobooobD oo oobobobooobDoUOoO
000000 pletframe 0 0000 OONO

53.4 000000 oOoon
oboogooooo
e xsegs: U OUODOOODDOOOOOODODOO
e xrect : DO DODOOOOMO
e xfrect : JUUIDUODUODODOOODOOO
e xrects: J IO UODODODODOOODDODLOOO
e xpoly : JOIDDODOOOOMO
e xpolys : JUUDODOOOOOOOMO
e xfpoly: JUOUIDOUOOUOOODOOD
e xfpolys: U UDDOUOODOOOOOOO
e xarrows : U DDUO0O0ODO0OOOOOOOO
o xfrect : IO UDOODOODOODODOO

e xclea: JUDOOODDDOOOODOOODDODDODO
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ooo0ooon
e xarc: JUOOODODODOO
e xfarc: O0OOOOOOOOODO

e xarcs : JUODOOOODDOOODDOODLDOOODDOO

5.3.5 UOUOguooggo

e xstring : DU O0D0DO0OOO0OOOOODOOOO
e xstringl : 0O O0OOO0OO0ODOOODOOOOO
e xstringb: DD OOODDDOODDOOODOO

e xnumb: 0 O0OOOOOOODO

5.3.6 U0OUO0UOOooooboooooooogoog

gobooboooobogd

000000000000000000000000000000000000000000(00
000000)00000000000000000000000000000000000000
0 (0 (5.1)00000000000000000

exset: 0000000000 0000000000OOxset 00000000000000O:

(i)-xset("use color",flag) 0 OO (color) D00 flagOO (1000 0)0000000OO
gooobobooobon

(ii)-xset ("window" ,window-number) 0 000000000 OO0O OO0 O window-number
goboobbboboooobboobobbobbboooobood

(iii)-xset("wpos",x,y) 0 0000 O000ODOO0OODOOOOOOOODOOOOOOO
gbobobooooobboobooobob0. D0xset 00000000

e xget : JUUDUOODUODOODODDOOODODODDDODDDDOOxset DDOOOODOODO
Ub00b0b000o0db=xgetDDOOODOOOOOODODO

o xlfont : X U UUOUOUODDUODODODUOUODDODODOOODLDOODLDOODOODLOO

goooooo
goog :

e isoview: IO UODDDOODOOODDODDODOO

gooobbobbbooooboboobobooboooooooooooobobbobbbobon
0000000000000 Oo0(@CooooooDooooon)
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e square: U OO UODODOODDOOO0OOOODLOODOODO
gbooobboooboboooooobobooooboood

e scaling : U U DOOOO0OOOOO

e rotate: 0

scaling 00 rotate 0 0OO0O0ODO (x,y) 00000 2000000000000O000O00O0O
gboobooobooooooboogd

e xgetech, xsetech: U 00U 0UOOD0OUODDOOO0OO0DOODOOODOODODOO

goobboobobbboboboooboboobooooboobbboooooooboonoon
gbooooDoOOobDo0b0o00bob0oboobO: D00 Oxgetech, xsetech O OO OO

54 0OJ0O0O0O0OO

gboogd2000booooooboobobbuoooooobonoboboobbboboood
goboooobog 5300000040

x==%pi:0.3:%pi;

y1l=sin(x) ;y2=cos(x) ;y3=x;

X=[x;x;x]; Y=[y1;y2;y3];

plot2d2("g00" ,X*,Y?);

xbasc();

plot2di("goO",X?,Y’,[1 2 3]7,"101","captionl@caption2@caption3");
xtitle(["General"”;"Title"],"x-axis title","y-axis title");
xgrid([10,20]1);

xclea(0.5,-0.5,1.5,1.5);

titlepage("titlepage");

xstring(0.65,0.3, ["xstring after";"xclear"],0,1);

goo ss000p0oobooobonooooboobon

// initialize default environment variables
plot(1:10)

xbasc()

// simple rectangle

xrect(0,1,3,1)

// filling a rectangle
xfrect(3.1,1,3,1)

// writing in the rectangle
xstring(0.5,0.5,"xrect(0,1,3,1)")
// writing black on black !
xstring(4.,0.5,"xfrect(3.1,1,3,1)")
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Plot with grid and automatic bounds

10

0 5.4: plotframe 0 O O

// reversing the video

xset("alufunction",6)
xstring(4.,0.5,"xfrect(3.1,1,3,1)")
xset("alufunction",3)

// drawing a polyline

xv=[0 1 2 3 4]

yv=[2.5 1.5 1.8 1.3 2.5]
xpoly(xv,yv,"lines",1)
xstring(0.5,2.,"xpoly(xv,yv,""lines"",1)")
// drawing arrows

xa=[56 677 88 9 9 E]

ya=[2.5 1.5 1.5 1.8 1.8 1.3 1.3 2.5 2.5 2.5]
xarrows(xa,ya)
xstring(5.5,2.,"xarrows(xa,ya)")

// drawing a part of an ellipsis
xarc(0.,5.,4.,2.,0.,64%300.)
xstring(0.5,4,"xarc(0.,5.,4.,2.,0.,64%300.)")
xfarc(5.,5.,4.,2.,0.,64*360.)
xset("alufunction",6)
xstring(5.5,4.,"xfarc(5.,5.,4.,2.,0.,64%360.)")
xset("alufunction",3)

// writing a string

xstring(0.,4.5, "WRITING-BY-XSTRING()",-22.5)

72
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5.5

isoview + xarc

e B
o

)
\N?\\x\v\c’
xarc(0.,5.,4.,2.,0.,64+300.)
poly(xv.yv,"lines",1)

ey _

gs5: 000000000000DO0O0ODO

{

SANNNANRERNIN

5.5.1 0000 3000000

plot3d: OOO0O 3000000 :30000 x,y2z0 plotdd(x,y,z) DO0O0O0ODO0O0DOOOO
x,yOUOOOOOO z0000000O0DOODODOOOOOOOO

plot3dl : DO UODOOOOO 3000000

fplot3d: 00D O0OOO0OOOO 3000000000000z000000 z=f(x,y) OO
gooogo

fplot3dl : O DODODODDOOODODODLOOOODOO 3000000

5.5.2 0U0O0O 3000000

param3d : 300 000000000000 000O00OOO0O0OO0O
contour : U OOD0OD0ODOODODOO 3000000000
grayploti0: 2000000000000 DO0O0O0OO
fcontour10: DO O0OO0ODODOO0ODODO 3000000000
hist3d: 3000000

secto3d: D000 plot3dd OODODOODODODOODDOOODODOODOO

evaldd: 0000000 ODO0ODODOOOO0(feval DODODOOODOO)
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5.5.3 20000000000 30000000 b0ObODODOO

300000000000000000000000000000000D0000OR?000000
go3booobooooboooobobobobooobobboooobobbobooboo3oon
g0 2000000000000000000 geom3dUJOOOO0OO0OOOOOOOOO 5600
goboooobobbood

xinit(’d7-10.ps’);
r=(%pi):-0.01:0;x=r.*cos(10*r);y=r.*sin(10*r);
deff ("[z]=surf(x,y)","z=sin(x)*cos(y)");
t=Ypi*(-10:10)/10;
fplot3d(t,t,surf,35,45,"Xevyez",[-1,2,3]);
z=sin(x) .*cos(y);
[x1,y1]=geom3d(x,y,2);
xpoly(xl,y1,"lines");
[x1,y1]=geom3d([0,0],[0,0],[5,0]);
xsegs(xl,y1);
xstring(x1(1),y1(1),’ The point (0,0,0)°);

The point (0,0,0)

gs6:20000000 3000000

5.5.4 0U0OO0O0OOO

000000000000 00000O0O0000o0oooo0ooooooo(@ 5.0)

xinit(’d7-8.ps’);
t=(0:.05:1)° ;st=sin(2*}pi*t);
xsetech([0,0,1,0.5]);
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plot2d2("onn",t,st);

xsetech([0,0.5,1,0.5]);

plot2d3("onn",t,st);
xsetech([0,0,1,1]);

10
08 -
06
04 -
02
00 4

T T T T
0.1 0.2 03 04 05

T T f T
0.6 07 08 09 10

5.5.5 OO0

0.1

0.2 03 04 05 0.6 0.7

O 5.7: xsetech 0 OO

0.8

09

10
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ggoobo20000bobbobo 3gboooopboooboobobooboobooboboboon
gooobDbodn 580000000000 BlatexprsUUODOOOOOOOOOOODOODOOO

gooooog

//some examples

str_1=1ist();

//

str_1(1)=[’plot3d1();’;
>title=[’’plot3dl
'xtitle(title,”’

//

str_1(2)=[’contour();’;

: z=sin(x)*cos(y)’’];’;

2
b

2

27)50 05

’title=[’’contour ’’];’;

’xtitle(title,?’
//
str_1(3)=[’champ();’;

2

2
b

*title=[’’champ ’’]1;’;

’xtitle(title,?’

2
b

)

)

27)50 05

27)50 05
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//

str_1(4)=[’t=)pi*(-10:10)/10;";
Ydeff (?’ [z]=surf(x,y)’’,’’z=sin(x)*cos(y)’’);’;
‘rect=[-Ypi,hpi,-%pi,hpi,-5,11;";
‘z=feval (t,t,surf);’;
'contour(t,t,z,10,35,45,'XeYez’*,[1,1,0] ,rect,-5);?;
’plot3d(t,t,z,35,45,’’XeYez’’,[2,1,3] ,rect);’;
*title=[’’plot3d and contour ’’];’;
‘xtitle(title,’’ 22,72 72);°];

//
for i=1:4,xinit(’d7all.ps’+string(i)’);

execstr(str_1(i)),xend();end

5.6 ScilabOJ0000O0000DO0 EBIgXOODOO

ScilabO0OODOODDOOOOOOUOOOOOODOOOO (UNIXODOO)ODOOOoooooOoooo
O0D00DDODODODOODO0OU0O0ODOOOOScilab 000000000 pinDOO0OO0OO

5.6.1 DUOUOODOOOOO

O0000000DO0OD0O000DDODO O O8cilabGraphic0OOO00O print0 0000000
gooooon

5.6.2 OO0 UOOOOLOOOOObOOO

ScilabO0ODOOOODOOODOOODOOODOOODOOOOODOOOOODOOOOODOOOO
goooboboobbboooobooboobod

-->driver(’Pos’)
-=->xinit(’foo.ps’)
-->plot3d1();
-->xend ()
-->driver(’Rec’)
-->plot3d1()

-->xbasimp(0,’fool.ps’)
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plot3d1 : z=sin(x)* cos{y)

100
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46

4

plot3d and contour
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0 s8: 000000



gs0d 0opooooo 78

ScilabO0O0O0DODOO0OO0OOOODODODOOOODODOODO (feo.ps OO0 footl.ps )OO0ODODOOO
0000000000000 0D0ODO00bO00000O0DO0ODDO0O00bO0OO0OO0O0OSclab OO
000 UNIXODOOoogobooboooobuoboouobuooboobboo B1lproboooboa
000 ScilabO0OOOO0O0OOOOOOOOOODOODOOOOOODOOODOOOODOODOOOO
god

Blpr string-title filel.ps file2.ps > result
D00000Dbd result D00ODOD0O00OO0OO UnixOODOOoooobooboobobDOO
lpr -Pprinter-name result

ooobooobDooDobO0D0DoD nixODODOOOODDOD ghestview O OO DODOOOO
obooboooooooooo
Oo00DbOO00D0OD0OD0Db0000D00 result 00000000 OCOOOOOOOOODOOOOO
00> result 0000000 | 1pr J00000D0COODO0OCO | ghostview ~O000OO0O0O0O
00000 (bO0o0ooo00)OO0Ol10o0002000000000000000O0O

5.6.3 0000000000000 BIgXODODOOO

Blatexpr Unix 00O OO OO OO Batexpr2 0 Blatexprs 0 OIIEX O ScilabO OO OO0OO
00000000000o0oooooooooo
000000000 DOO fee.ps000D0DOODODODOOO UnixODODODDOOODOO

Blatexpr 1.0 1.0 foo.ps

00002000000 foo.epsf U foo.tex U UOUODOOODODOODODOOOOODODODO
0000000000000 IpX OOO00O0ODO0O0ODO00DODOCODO0O00DOO00 X OO0
UOKREX ODOO00O0OOoobobobobbobooo

\input foo.tex
\dessin{0 0000 000 }The-label}

U000 000gobobOoodgnD ghestview U OOUODODODOOOODOOOO

O000O0O Blatexprs 0D OODOO0ODO0ODOOD: 100 WMIgXOOOOOOOOooooDoo
gooobobooobobooboood

goooooDooboo0ooobDbbbOon pesDOO0ODODObODODDODDODOO
gobobobobo 400000000000000 figl.ps, ..., figd.ps OO OODO OO0
00000 Rec (0ODOO X11OOOO)OODOOO

-->//multiple Postscript files for Latex
-—>driver(’Pos’)

-—>
-=>t=Ypi*(-10:10)/10;
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-->plot3d1(t,t,sin(t)’*cos(t),35,45,°XeY0Z’,[2,2,4]);

-->xend ()

-->contour(1:5,1:10,rand(5,10),5);

-->xend ()

-->champ(1:10,1:10,rand(10,10) ,rand(10,10));

-->xend ()

-=>t=Ypi*(-10:10)/10;

-=>deff (’ [z]=surf(x,y)’,’z=sin(x)*cos(y)’);

-=>rect=[-Ypi,lkpi,-%pi,%pi,-5,1];

-—>z=feval(t,t,surf);

-->contour(t,t,=z,10,35,45,°X@YezZ’,[1,1,0],rect,-5);

-->plot3d(t,t,z,35,45,’X@Yez’,[2,1,3] ,rect);

-->title=[’plot3d and contour ’];

-—>xtitle(title,’ ?,’ ?);

-->xend ()

-->

-—>driver(’Rec?)

79
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plot2d and xgrid macro histplot : Histogram plot
sin(t) N(C)/Nmax

10 n

R [ i

R R . ]
R A -

. Lo L) L]
Y W

Classes

0 5.9: Blatexp2 00O

gboogobooobooooboood
Blatexprs multi figl.ps fig2.ps fig3.ps fig4.ps

goooDooDbD2000000 mltictexD mlti.ps0 00000000000 00OOO00ODODODO
KX OO0ODOO0O0OODOO0OOO0O0ODODOOOODOOoO

\input multi.tex
\dessin{0 0000 000 }The-label}

20000 dessin... 000000000000 OOOO0OOOOOOCOOOOO (DODOOO
0)000000000OO00O00oOOOO0O0OO0O0OO0O00O00UDODOOO0ODODUOOOOOOOOO
multi.tex 0 0200000000000000000000000000 dessinOO0Onoooon
U000 dessinJ 0000000000 DOODODOOO00OO0O0O0O0O0O0ODIO0O0OO0O 20000
oo <« »ogoboooooboobogn

O000D0O0OD0O0O0DO O\special OO0DODDOD WIEX ODODODDODDOOOODOOOAGvips
goooboboobbobooooo

U0000 Blatexpr2U 020000000000 0000O000O0

Blatexpr2 Fileres filel.ps file2.ps

ooobD X DO00o0oboobobobobbobboboobboobboboboooooooooboooo
gooooobooboooboobbbbbb0obbO figuresDOOOOO0DOOODOOODODOO
gobbooogoooboobooboobboboobooobog

\def\Figdir{figures/} % My figures are in the {\tt figures/ } subdirectory.
\input{\Figdir fig.tex}
\dessin{0 OO0 00 000 }{The-label}

\def\Figdir{figures/} 0000 20000000000000 (latexOOOO0ODOO0)000
0 fig.tex DO OO OODOO2000 fig.texOOO special WIRX 0000 OO (dvipsO OO
O00000)000000oOooooooood
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-00 :000000000000RecO00D00D000000D0O0O0D0O0DOOOODODOOOODODO
000000000000 0oooo0000ooooo0Dd0dOxbasc) OOOO0DOO0OO0OOOOO
000000000000 00D0000000000000000000clear000000o0o0On0
O000000xclear 0000000000 DOOOO0O0OO0OO0OOO0OODODOOODOOOOOOO
00 xbasc() 000 clear 000000000000 O0ODDODOOOOOOOOOODOODOODO
00o00o0o0ooO0o0o0o0O00 (bOoODooU0ODOOOO0U0DOO0O0O0OO0)00DOOOOOOO
000000000000 000D00000 “window-plot” 000000 “paper-plot” O OO0OO
ooooo

5.6.4 XfigOOODODOOOOOooooO

00000000000 00oo0ooO0o0ooo0oooOO00ODOOO XfigoOOoooooo
0000000 xs2fig(active-window-number,file-name) 000 XfigOOOODO OOODOOO
00oooood

000000000000 RecOODODODOODO

0000 O ScilabGraphic0 DO0O0O0D0OO0O00O0O0O0O0O0DOOOO0O0DODOOO

-=>t=-Ypi:0.3:%pi;
-->plot3d1(t,t,sin(t)’*cos(t),35,45,°XeY0Z’,[2,2,4]);

-->xs52fig(0,’demo.fig’) ;

gooooobuoobooooobbDiDD demo.figdnoogn

O00OXfigOODOOODODODODODDOOODODOOOODOODOO0OODDOKIEX DOOoooOoo
O0oo0o0OoO0o0DObO0oCODOOOO0bO0ODOOOODOO00ODOOOO0OO0OXfigOOOoooboao
gobobooobobbooooboooboobog

5.6.5 Encapsulated Postscript 0 0 00O

OD00000O0O0OBlatexpr 000000 200000000000 00000C000OKIEX OO
ODO00D0OD0O .texOOOOO .epsf 00 O0O0DOO

BEpsf 00000000000 .psO0 0000000 encapsulated Postseript 00 000000
oooDoooo

Blatexpr 00000000 .epsf OO OO0 Oencapsulated Postseript 00 000000000
000000000000 000O00Obounding box 000 000 OBEpsf O Obounding box 00 O
O encapsulated Postscript 00 00000 .eps 00000000000
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LOCAL MAX

0 5.10: Xfig OO OO OO Encapsulated Postscript

82
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060 Mapled ScilabOOOOOOOOO

00000000 MapleDOOODOOOO ScilabOOD0OOOO0ODOOOOOODODODODOMapled

000000 ScilabODOODODODOOOOOODODODOO
oobobobobooboobogobbbobDbO FortranoDOoooooooooobobOoOon

O00D0ODODOD Omaple2scilab000 MapleDOODODOOODOODOOOOOOO

6.1 Maple2scilab

00 maple2scilab 0 0000000000000 ODOODODODOMaple00000O00O Fortran
O000000D0O00O0000 Scilab 0OODDODODOODODOmaple2scilab0000O0O00O00O
00 SCIDIR/maple 0O DO OO

maple2scilab 000 00 0O0O0O0O0OOO0OOODOO0O

maple2scilab(function-name,object,args)
e J00ODO OO function-name 0 OScilab 00 O0OD0O0OOOOODOO
e 20000000o0bject 0 0OScilab0O0DOOOODO MapleDOOOOODOOOO
e 3000000 OMaple-object object 0D DD ODDDODDOOOODOODOODOO

maple2scilab Maple 000D O0ODDOODOO0200000000000000000 OFortran
000000000000 DODOD000 ScilabO000O00O0ODODODODODDODODODOOODOODOO
0000b000DOO0oDO0o0ooooogooooon

00000 Fortran 000000 O0DOOODDODOODODOOOOODOO
<Scilab-name>(x1,x2,...,xn,matrix)
000000000000 x1,x2,...,xn 00000000 matrix(i,j) 000000000000
Maple OO0 000ODOODODOOOOOODOODOODODODODOOOOOFortran OO0 ODOOO
<Scilab-name>.f 00 000000 OO0 OScilab OO0 <Scilab-name>.sci 00000000
O0000D00000O0ScilabD000D0OO0O0ODODOODOODODOODODOOODOO Fortran OO OO
000000000 ScilabOOODO0O (O0OO OMenu-bar 000000 "1ink)0000000O0O
0000000000000 (Menu-bar D00 00O ’getfc’) 1ink 000000000 OScilab O
0000000000000 0O0Fortran 000D DOO0OO0O00O000O default 0000000
interf . £ 00 000000Scilab000D0D00D0DO0OD0OODOOO0OODOOO 2000000000
000000000 (D00OScilab 0 wmix000000)0000000D0OOOOO

Maple2scilab O OMaple 00000000000 “Macrofort” 00O 000000000

6.1.1 UU00OOooooon

Maple 000 OO
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> read(‘maple2scilab.maple®):

> f:=b+a*sin(x);
f := b + a sin(x)

> maple2scilab(’f_m’,f, [x,a,b]);

O00OMapleO0O f000000000 OMaple0000000O0000O0O0O0OO0O0OOOScilab
0000 £00000 fm 000000(Sclab0000060000000000000D0OO
O00000) 00 maple2scilabd 02000000 0f_m.£f 0 f_m.scil MapleDOOOODOODO
O0O000000OOoOO0O0O0000O000000000O0C0CO000O00000 MapleDODOOOO
0 00 UOrpath:=¢/work/‘;

oooooooooobooboobobobOob00OwrkO0OOO0OO0OOO0OOO0DOOO0 fm.£00000
OO0000 Fortran 0000000000000 O0O0O00O0C0COO00O0 fm.sci0O0O00O0
00 fmO00 ScilabO0O000O0O0O0O00O0OO

Scilab OO O OO

-->unix(’make f_m.o?);
-->1ink(’f_m.o’,’f_m’);

linking _f_m_ defined in f_m.o
-->getf(’f_m.sci’,’c’)

-=>f_m(%pi,1,2)

ans =

6.1.2 0O0OOO

OOO0OMapleO0OOO ScilabOOOOOOOOO

Maple 000 OO

> with(linalg) :read(‘maple2scilab.maple®):
> x:=vector(2) :par:=vector(2):
> mat:=matrix(2,2, [x[1] 2+par[1],x[1]1*x[2],par[2],x[2]1]1);

L 2 ]
[ x[1] + par[1] =x[1] x[2] 1]
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[ par[2] x[2]

> maple2scilab(’mat’ ,mat, [x,parl);

Scilab OO O OO

-->unix(’make mat.o?’);
-->link(’mat.o’,’mat’)
linking _mat_ defined in mat.o
-->getf(’mat.sci’,’c’)

-->par=[50;60] ;x=[1;2];

-->mat (x,par)
ans =

! 51. 2. !
! 60. 2. !

O000O00 0000000 20000000 maple2scilab0000000000O0O (Fortran OJO0ODO
000 ScilabO0O)00O0O

Fortran OO0 O

SUBROUTINE f_m

o o0 0

subroutine f_m(x,a,b,fmat)
doubleprecision x,a,b
implicit doubleprecision (t)
doubleprecision fmat(1,1)

fmat(1,1) = b+a*sin(x)
end

SUBROUTINE mat

subroutine mat(x,par,fmat)
doubleprecision x,par(2)
implicit doubleprecision (t)
doubleprecision fmat(2,2)

2 = x(1)**2

fmat(2,2) = x(2)

fmat(2,1) = par(2)
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fmat(1,2) = x(1)*x(2)
fmat(1,1) = t2+par(1l)
end
Scilab O 0O

function [var]l=f_m(x,a,b)
var=fort(’f_m’,x,1,’d’,a,2,’d’,b,3,°d’,’out’,[1,1],4,°d’)
//end

function [var]l=fmat(x,par)
var=fort(’fmat’,x,1,’d’,par,2,’d’,’out’,[2,2],3,°d")
//end
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0000000000 ScilabOOODOOODODOOOOO

-->//SCILAB OBJECTS 1. SCALARS

-->a=1 //constant

a =

-=>1== //boolean

ans =

-->’string’ //character string

ans =
string

-=>z=poly(0,’z’) // polynomial with variable ’z’ and with one root at zero

b4 =

-=>p=1+3%z+4.5%xz"2  //polynomial
p =

2
1 + 3z + 4.5z

-=>r=z/p //rational

1 + 3z + 4.5z
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-->//SCILAB OBJECTS 2. MATRICES
-—>a=[a+1 2 3

0 0 atan(1)

59 -1] //constant matrix
a -
! 2. 2. 3. !
! 0. 0. 0.7853982 !
! 5. 9. -1. !
-—>b=[%t,%f] //boolean matrix
b =
' TF !

-->mc=[’this’,’is’;

’a’ ,’matrix’] //matrix of strings
mc =
'this 1is !
! !
la matrix !
-=>mp=[p,1-z;
1,z*p] //polynomial matrix
mp =
! 2 !
! 1 + 3z + 4.5z 1 -z !
! !
! 2 3!
! 1 z + 3z + 4.5z !
-=>mp=[p 1-z]
mp =
! 2 !
! 1 + 3z + 4.5z 1 -z !
-=>mp=[mp;1 1+z*p] //matrix polynomial

mp =
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! 2 !

! 1 + 3z + 4.5z 1 -2z !

! 2 3!

! 1 1 +2z+ 3z + 4.5z !

-=>f=mp/poly([1+%i 1-%i 11,’z’) //ratiomal matrix
f =

! 2 !
! 1+ 3z + 4.5z -1 !
Il - e —— |
! 2 3 2 !
!' =2+ 4z - 3z + z 2 -2z + 2z !
| |
! 2 31!
! 1 1 +2z+ 3z + 4.5z !
Il e |
! 2 3 2 3 !
!' =2+ 4z - 3z + z -2+ 4z - 3z + z !
-->//SCILAB OBJECTS 3. LISTS

-->1=1list(a,-(1:5), mp,[’this’,’is’;’a’,’1list’]) //list
1 =

1>1

to2. 2. 3. !

' 0. 0.  0.7853982 !

' 5. 9. - 1. !
1>2

' -1, -2. -3. -4, -5.!
1>3

! 2 !
! 1 + 3z + 4.5z 1 -2z !



O 0OA A demo session

! 2 3!

! 1 1 +2z+ 3z + 4.5z !
1>4

'this 1is !

! !

la list !

-—>b=[1 0;0 1;0 0];c=[1 -1 0] ;d=0*c*b;x0=[0;0;0];

-->sl=syslin(’c’,a,b,c,d,x0) //Linear system in state-space representation.

sl =

s1(1) (state-space system:)

1ss
s1(2) = A matrix =
! 2. 2. 3. !
! 0. 0. 0.7853982 !
! 5. 9. -1. !
s1(3) = B matrix =
] O. ]
] O. ]
] O O ]
s1(4) = C matrix =
! 1 - 1. 0. !
s1(5) = D matrix =
] O O ]
s1(6) = X0 (initial state) =
] O. ]
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] O . ]
81(7) = Time domain =

c
-->glt=ss2tf(sl) // Transfer matrix

slt =

! 2 2

! - 10.995574 + s + s 46 + 38 - s

! __________________________________________________________
! 2 3 2
! 6.2831853 - 24.068583s - s + 8 6.2831853 - 24.068583s - s
! 3

! + s
-=>// OPERATIONS
—-—>y=1:5;v*v’ //constant matrix

ans =

55.

-=>mp’ *mp+eye //polynomial matrix

ans =

! 2 3 4 2

! 3 + 6z + 18z + 27z + 20.2bz 2 + 3z + 4.5z

!

! 2 2 3 4 5

! 2 + 3z + 4.5z 3 + 8z + 16z + 18z + 27z + 20.25z
-=>mpl=mp(1,1)+4.5%%1 //complex

mpl =
real part

2
1 + 3z + 4.5z

imaginary part

6
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4.5
-=>fi=c*(z*eye-a) (-1)*b; //transfer function evaluation
-—>f(:,1)*f1 //rationals
ans =
column 1
! 2 3 4
! - 10.995574 - 31.986723z - 45.480084z + 7.5z + 4.5z
! _________________________________________________________________
! 2 3 4
! - 12.566371 + 73.269908z - 113.12389z + 72.488936z - 17.068583z
! 5 6
! -4z + z
!
! 2
! - 10.995574 + z + z
! _________________________________________________________________
! 2 3 4
! - 12.566371 + 73.269908z - 113.12389z + 72.488936z - 17.068583z
! 5 6
! -4z + z
column 2
! 2 3 4
! 46 + 141z + 215z + 10.5z - 4.5z
! _________________________________________________________________
! 2 3 4
! - 12.566371 + 73.269908z - 113.12389z + 72.488936z - 17.068583z
! 5 6
! -4z + z
!
! 2
! 46 + 3z - z
! _________________________________________________________________
! 2 3 4

!' - 12.566371 + 73.269908z - 113.12389z + 72.488936z - 17.068583z
! 5 6
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! -4z + z
-=>m=[mp -mp; mp’ mp+eye] //usual Matlab syntax for polynomials
m =
column 1 to 3
! 2 2!
! 1 + 3z + 4.5z 1 -z -1-3z - 4.5z !
[} [}
! 2 3 !
v 1+2z+3z+ 4.5z -1 !
[} [}
! 2 21
! 1 + 3z + 4.5z 1 2 + 3z + 4.5z !
[} [}
! 2 3 !
! 1 -2z 1 +2z + 3z + 4.5z 1 !
column 4
I -1 4+ Zz [}
[} [}
! 2 31
! -1-2z-3z - 4.5z !
[} [}
] 1 - z ]
[} [}
! 2 31
! 2+ 2z + 3z + 4.5z !
-=>[fi, £i(:,1)] // ... or rationals
ans =

column 1 to 2
! - 10.995574 + z + z 46 + 3z - z

! 6.2831853 - 24.068583z - z + z 6.2831853 - 24.068583z - z
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column 3
! - 10.995574 + z + z !

! 6.2831853 - 24.068583z - z + z !

-=>f=gyslin(’c’,f);

——>num=£f (2) ;den=£(3); //operation on transfer matrix
-=>// SOME NUMERICAL PRIMITIVES

-->inv(a) //Inverse

ans =

! 1.1256 - 4.6154933 - 0.25 !

! - 0.625 2.705634 0.25 !
! 0. 1.2732395 0. !
-=>inv(mp) //Inverse
ans =
! 2 3
! -1-2z-3z - 4.5z 1 -2z
! ______________________________________________________________
! 2 3 4 5 2 3 4
! - bz - 10.6z - 18z - 27z - 20.25z - bz - 10.5z - 18z - 27z
! 5
! - 20.25z
!
! 2
! 1 -1-3z - 4.5z
! ______________________________________________________________
! 2 3 4 5 2 3 4
! - bz - 10.6z - 18z - 27z - 20.25z - bz - 10.5z - 18z - 27z
! 5

! - 20.25z
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-=>inv(sl*sl’) //Product of two linear systems and inverse
ans =
ans (1) (state-space system:)
1ss

ans(2) = A matrix =

! 5.9635231 - 2.6249762
! 2.7249932 6.0907542
! 0. 0.
! 0. 0.

6.3980513 2.7956764 !
5.8266323 - 8.9360032 !
5.1379153 0.6683049 !
0.6976228 - 4.9163619 !

ans(3) = B matrix =
! 12.954406 !
! -= 5,0993579 !
! 0.8307530 !
I - 2,9870086 !
ans(4) = C matrix =
I - 2.3504729 - 3.5004798 3.4091491 6.2019961 !

ans(5) = D matrix =

2
2.4292037 - 9.021D-17s + 0.5s

ans(6) = X0 (initial state) =

o O O O

ans(7) = Time domain =

-->w=ss2tf(ans) //Transfer function representation
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2 3 4
19.739209 - 151.22737s + 283.36517s + 30.351769s - 23.568583s
5 6

1118.4513 + 127.00443s - 51.995574s - 25 + s

-—>inv(ss2tf(sl)*ss2tf(sl’)) //Product of two transfer functions and inverse

ans =

2 3 4
39.478418 - 302.45474s + 566.73034s + 60.703538s - 47.137167s

2236.9027 + 254.00885s - 103.99115s - 45 + 2s

-->clean(w-ans)

ans =
0
;
-->n=contr(a,b) //Controllability
n =
3.
-->k=ppol(a,b, [-1-%i -1+}i -1]1) //Pole placement
k =

! 0.1832061 - 0.3358779 1.740458 !
! 2.7463953 3.8167939 1.7650419 !

-->poly(a-b*k,’z’)-poly([-1-%i -1+4i -11,°z’) //Check. ..

ans =

- 3.109D-15 - 3.109D-1bz
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-->s=s5in(0:0.1:5*)pi);

-—>ss=fft(s(1:128),-1); //FFT
-—>xbasc();
-->plot2d3("enn",1,abs(ss)’); //simple plot

-->x=1lyap(a,diag([1 2 3]),’cont’) //Lyapunov equation

X =

! - 1.4958251 - 4.3299851 0.6983300 !

! - 4,3299851 - 0.3504060 1.07333 !

! 0.6983300 1.07333 1.4379815 !
-=>// ON LINE DEFINITION OF MACRO

-—>deff(’ [x]=fact(n)’,’if n=0 then x=1,else x=n*fact(n-1),end’)

-->10+fact(5)

ans =
130.
-=>// OPTIMIZATION

-->deff(’ [f,g,ind]=rosenbro(x,ind)’, ’a=x(2)-x(1)"2 , b=1-x(2) ,...
f=100.*%a"2 + b"2 , g(1)=—400.*X(1)*a s g(2)=200.*a -2.%b ?);

-->comp(rosenbro) ; [f,x,g]l=optim(rosenbro,[2;2],’qn’)
norm of projected gradient lower than  0.0000000D+00

o O

™
"

= e
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-=>// SIMULATION

-->a=rand(3,3)

a =

! 0.3616361 0.4826472 0.5015342 !
! 0.2922267 0.3321719 0.4368588 !
! 0.5664249 0.5935095 0.26931256 !

-->e=exp(a)

e =
! 1.8016766 0.9861359 0.9295708 !

! 0.6462788 1.7366226 0.7731203 !
! 1.0024892 1.1047133 1.7455217 !

-=>deff (’ [ydot]l=£f(t,y)’,’ydot=a*y’) ;comp(f)

-—>e(:,1)-0de([1;0;0],0,1,)

ans =

! - 6.303D-08 !
! - 5.028D-08 !
! - 6.558D-08 !

-=>// SYSTEM DEFINITION

-->s=poly(0,’s’)

S =

-->h=[1/s,1/(s+1);1/s/(s+1) ,1/(s+2) / (5+2)]
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! s + s 4 + 45 + 5 !

-—>w=tf2ss(h);

-->s582tf (w)

ans =

[} 1 1 [}
|l e e [}
! 1.373D-15 + s 1+ s !
[} [}
! 1 1 - 3.677D-16s !
e gy Sy gy iy g S g [}
! 2 2 !
! 7.288D-14 + s + s 4 + 43 + s !
-->hi=clean(ans)

hi =

[} 1 1 [}

[} - eeme———- [}

! s 1+ s !

[} [}

[} 1 1 [}
gy Sy g [}

[} 2 21

! 5 + 8 4 + 45 + 5 !
-=>// EXAMPLE: SECOND ORDER SYSTEM ANALYSIS

-=>sl=syslin(’c’,1/(s*s+0.2*s+1))

sl =

-->instants=0:0.05:20;

-=>// step response:
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-->y=csim(’step’,instants,sl);

-->xbasc() ;plot2d(instants’,y’)

-=>// Delayed step response

——>deff(’ [in]=u(t)’,’if t<3 then in=0;else in=1;end’);

-=>comp (u) ;

-->y1=csim(u,instants,sl) ;plot2d(instants’,y1’);

-=>// Impulse response;

-->yi=csim(’imp’,instants,sl) ;xbasc();plot2d(instants’,yi’);

-->yil=csim(’step’,instants,s*sl);plot2d(instants’,yil’);

-=>// Discretization

-=>dt=0.05;

-->sld=dscr(tf2ss(sl),0.05);

-=>// Step response

-->u=ones(instants);

Warning :redefining function: u

-=>yyy=flts(u,sld);

-->xbasc() ;plot(instants,yyy)

-=>// Impulse response

-->u=0*ones (instants);u(1)=1/dt;

-=>yy=flts(u,sld);

-->xbasc() ;plot(instants,yy)

-=>// system interconnexion
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-—>wi=[w,w];

-->clean(ss2tf(wl))

ans =

! 1 1 1 1

! - eem——— - eem———
! s 1+ s s 1+ s
!

! 1 1 1 1
! ____________________________
! 2 2

! 5 + 8 4 + 4s + s 5 + 8 4 + 45 + s
-—>w2=[w;w];

-->clean(ss2tf(w2))

ans =

! 1 1 !

! - == !

! s 1+ s !

! !

! 1 1 !

' - !

! 2 !

! 5 + 8 4 + 45 + 5 !

! !

! 1 1 !

! - == !

! s 1+ s !

! !

! 1 1 !

' - !

! 2 !

! 5 + 8 4 + 45 + 5 !

-=>// change of variable

-=>z=poly(0,’z’);

-->horner(h, (1-z)/(1+z))

//bilinear transform
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ans =
! 1+ z 1+ z !
Il mm_—e e |
! 1 -2z 2 !
| |
! 2 21
! 1+ 2z + 2z 1 +2z+2z !
|l e e |
! 2!
! 2 - 2z 9+ 6z +2z !
-=>// PRIMITIVES
-->H=[1. 1. 1. 0.;

2. - 1. 0. 1;

1 0. 1 1.;

0. 1. 2. - 11;
-->ww=spec(H)
WW =
! 2.7320508 !
! - 2.7320508 !
! 0.7320508 !
! - 0.7320508 !
-=>// STABLE SUBSPACES

-->[X,d]=schur(H,’cont’);

==>X7 *xH*X

ans =

! - 2.7320508 0. 0. 1. !
! 0. - 0.7320508 - 1. 0. !
! 0. 0. 2.7320508 0. !
! 0. 0. 0. 0.7320508 !

-->[X,d]=schur(H,’disc’);

—-=>X?*xH*X

ans =
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! 0.7320508 0. 0. 1. !
! 0. - 0.7320508 - 1. 0. !
! 0. 0. 2.7320508 0. !
! 0. 0. 0. - 2.7320508 !

-->//Selection of user-defined eigenvalues (# 3 and 4 here);
-->deff(’ [flgl=sel(x)’,’flg=0,ev=x(2)/x(3),if abs(ev-ww(3))<0.0001|abs(ev-ww(4))<0.00001 then :

-->[X,d]=schur(H,sel)

d =

2.
X =
! - 0.5705632 - 0.2430494 - 0.6640233 - 0.4176813 !
! - 0.4176813 0.6640233 - 0.2430494 0.5705632 !
! 0.5705632 - 0.2430494 - 0.6640233 0.4176813 !
! 0.4176813 0.6640233 - 0.2430494 - 0.5705632 !
-=>X?*Hx*X
ans =
! 0.7320508 0. 0. 1. !
! 0. - 0.7320508 - 1. 0. !
! 0. 0. 2.7320508 0. !
! 0. 0. 0. - 2.7320508 !
-=>// With matrix pencil

-->[X,d]=gschur(H,eye(H) ,sel)
d =

! 0.5705632 0.2430494
! 0.4176813 - 0.6640233
! - 0.5705632 0.2430494
! - 0.4176813 - 0.6640233

.6640233 0.4176813 !
.2430494 - 0.5705632 !
.6640233 - 0.4176813 !
.2430494 0.5705632 !

-=>X7 *H*X
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ans =
! 0.7320508 0. 0.
! 0. - 0.7320508 - 1.
! 0. 0. 2.7320508
! 0. 0. 0.
-=>// block diagonalization

-->[ab,x,bs]=bdiag(H) ;

—-—>inv(x)*H*x

ans =
! 2.7320508 0. 0.
! 0. - 2.7320508 0.
! 0. 0. 0.7320508
! 0. 0. 0.
-=>// Matrix pencils

-->E=rand(3,2)*rand(2,3);
-->A=rand(3,2)*rand(2,3);
-->s=poly(0,’s’);

-—>w=det (s*D-4) //determinant

W =

2
- 0.0801176s + 0.0423727s

-->[al,bel=gspec(4,E);

-->al./(be+leps*ones(be))

ans =
! 1.576D+15 !
! 1.8907826 !

! 1.688D-16 !

-->roots(w)

N O O

o O O O

.7320508 !

.7320508 !
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! 0 !
! 1.8907826 !

-->[Ns,d]=coffg(s*D-A); //inverse of polynomial matrix;

-->clean(Ns/d*(s*D-4))

ans =

! 1 0 o !
! - - - |
! 1 1 1 !
] ]
! 0 1 o !
! - - - |
! 1 1 1 !
] ]
! 0 0 1 !
! - - - |
! 1 1 1 !

-->[Q,M,i1]=pencan(E,A); // Canonical form;

rank A"k rcond
2. 0.347D+00
rank A"k rcond
2. 0.552D+00
-=->M*ExQ
ans =
! 1. 0. 0. !
! - 4.689D-16 1. 0. !
! 0. 0. 0. !
—=>M*A*Q
ans =

! 1.8609512 0.4018602 0. !
! 0.1381447 0.0298314 0. !
! 0. 0. 1.1

-=>// PAUSD-RESUME
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-=>write(%io(2),’pause command...’);

pause command...

-->write(}io(2),’TO CONTINUE...’);
TO CONTINUE...

-—>write(%io(2),’ENTER ’’resume (or return) or click on resume!!’’’);

ENTER ’resume (or return) or click on resume!!’

-->pause;
-1->resume;
-=>// CALLING EXTERNAL ROUTINE
-—>foo=[" subroutine foo(a,b,c)’;
? c=at+b’;
’ end’ 1J;

-—>unix_s(’\rm foo.f’)
-—>write(’foo.f’,fo0);

-->unix_s(’make foo.0’) //Compiling...(needs fortran compiler)

-->//NEXT COMMAND LINE WILL DO THE LINK OF THE ROUTINE foo WITH SCILAB
-->//THIS COMMAND MAY FAIL FOR SystemV COMPILED VERSIONS OF SCILAB
-->//BECAUSE LINK NEEDS THE LIBRARIES (SEE THE HELP OF "LINK' COMMAND)
-->1ink(’fo0.0’,’fo0’) //Linking to Scilab

-=>//5+7 by fortran

-—>fort(’foo’,5,1,’r’,7,2,’r’,’0ut’,[1,1],3,’r?)

ans =

12.
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